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The following table-1 shows the percentage (%) market share of sale of buses of six different automobile
companies A-F in the Financial Year (FY) 2020-21 and table-2 shows the percentage (%) of six different bus
models P-U sold by the automobile company A.

Based on the data in the table, answer the question.

Table-1 : Company-wise Sale of Buses

Company Distribution (%) of sale of Buses
A 41%

B 8%

C I )

D 3%

E 1%

F 40%

Table-2 : Model-wise Sales of Buses by Company A

Model Sale (%) of Bus Models
18%
25%

| SOl
—
[
&
&

[

I 10%
fafafaa aifaer-1 8 faxdia ad (7v) 2020-21 # 38 14 sificHiasa dufal A-F gR1 591 @ fast a1
ISR WTaRT wfa=id (%) YafRid g qur dfder-2 # sficHidasd ou-l A gRT 94 T o3 4l 79 & Algal
P-U &I Ul=Id (%) WelRid § | diferdt 8 &8 T e & TR IR Y P 3R alfol :

dIfeIpl-1 : UHIAR a91 i [dshl

BT TG B (G BT 1G0T (%)
A 41%

B 8%

C 7%

D 3%

E 1%

F 40%

dIIPI1-2 : DUAT A GRI AlST-aR &1 B! [l
BIEN ER R ENIGARCEARCD)

P 18%

Q 25%

R 12%

S 15%

T 200%%

U 10%




If the number of buses sold by F is 40000 in FY 2019-20 and the percentage growth in sale of buses is 12%% in

FY 2020-21, then how many units have been sold by B in FY 2020-21?

. 12000
. 11000
. 10000
. 9000
1 1
(2) 2
3) 3
4) 4

afe fa<ita a9 2019-20 H F gRT &= T S99 &1 T=AT 40000 ¢ 3R fa<iia avf 2020-21 & a9 &1 9t #
fa=rd afs 12%% o, dl fadfia av 202021 # B gRI faha-it sh1sal & faw! &1 1t 2

L S R

.

1. 12000
2. 11000
3. 10000
4. 9000
1) 1
(2) 2
(3) 3
4) 4
1[Option ID=43501] Question Description : general_paper_genarel paper_set 35_english_q1
2[Option ID=43502]

3[Option ID=43503]
4[Option ID=43504]
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The following table-1 shows the percentage (%) market share of sale of buses of six different automobile
companies A-F in the Financial Year (FY) 2020-21 and table-2 shows the percentage (%) of six different bus
models P-U sold by the automobile company A.

Based on the data in the table, answer the question.

Table-1 : Company-wise Sale of Buses

Company Distribution {%0) of sale of Buses
A 41%

B 8%

C %

D 3%

E 1%

F 40%

Table-2 : Model-wise Sales of Buses by Company A

Model Sale (%) of Bus Models
P 18%
Q 25%
R 12%
5 13%
T 20%
U 10%

ﬁaﬁrﬁﬁamﬁw-l T faiia adf (Fv) 2020-21 H 38 44 ficHiasd Hufl A-F gRT S4 &1 fat &
TSR WTEaR] Afd=Id (%) YafRid 8 qur drfder-2 # sficHiasd U A gRT 94 T o3 4l 79 & Alsal
P-U I UId=Id (%) UalRid § | difeidh! 8 {38 T 3flds & SR UR HY P 3R alfol :

dIeIl-1 : HUAAR S4°1 I [oshl

ERERCEA R AR G
1%

8%

7%

3%

1%

40%

'-rih'lU(‘JUd:b%

dIfeIep1-2 : HUAT A gRI HISd-dR a1 &l [dehl

TG Aladl DI 9B (%)

18%

25%
12%
15%
20%
10%

c:'—lmpdc)*d%(

What is the approximate percentage of buses sold by C with respect to that of models R sold by A in the FY
2020-21, if the number of buses sold by D is 33757

. 142.28%
.131.15%
. 135.52%
. 132.82%
(1) 1
(2) 2
(3) 3
(4) 4

gfe D GRT St i F9T @ W= 3375 €, df fawiia 9 2020-21 § ¢ RIS 7S S99 BT A GRI 99 T ASd
R &1 G B a1 H Ufrrd e fha g 2

R R

1.142.28%
2.131.15%
3.135.52%
4.132.82%




(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=43505] Question Description : general_paper_genarel paper_set 35_english_q2
2[Option ID=43506]

3[Option ID=43507]
4[Option ID=43508]

Sl. No.3
QBID:35201003

The following table-1 shows the percentage (%) market share of sale of buses of six different automobile
companies A-F in the Financial Year (FY) 2020-21 and table-2 shows the percentage (%) of six different bus
models P-U sold by the automobile company A.

Based on the data in the table, answer the question.

Table-1 : Company-wise Sale of Buses

Company Distribution (%) of sale of Buses
41%

8%

7%
3%
1%

40%

2l el w1 e (== =

Table-2 : Model-wise Sales of Buses by Company A

Model Sale (%) of Bus Models

I 18%

Q 25%

E 12%

S 15%

i 20%

U 10%

fafaRaa aiferet-1 § fa<iia ad (Fy) 2020-21 § S8 44 sficHEEd HUf-al A-F gRI &9 & fa@] &1
OIR TTaaR] UfA=Id (%) WafRid g 9uT diferdl-2 § sffcand du- A R 94 T4 S8 (97 91 & Arsdl

P-U &1 A< (%) UeRid g | aifadr § a8 74 3ifdhs & MR IR Uy &1 IR S :
TIIPT-1 : IR 941 B faspt

ER R CEARARE LA G
1%

8%

7%

3%

1%

40%

FdHUOUdb%

[

IfAIP1-2 : U A GRI AlSA-aR a1 &1 fahl

jal

T Hsdl DI 9B (%)
18%
25%
12%
15%
0%
10%

What is the ratio of the number of buses sold by B to the number of models R sold by A in the year 2020-21?

c—nmw,o*dgc

. 100:61
1:3

e )
.200:123




) 2
3) 3
(4) 4

ay 2020-21 H B gRT &1 T3 &4 1 AT DI A GRT 441 15 HISd R B a1 DI GBAT Y T faba1 g 2

—

. 100:61
. 1:3
T
.200:123
(1) 1

(2) 2

(3) 3

4) 4

I~

e

1[Option ID=43509] Question Description : general_paper_genarel paper_set 35_english_q3
2[Option ID=43510]
3[Option ID=43511]
4[Option ID=43512]
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The following table-1 shows the percentage (%) market share of sale of buses of six different automobile
companies A-F in the Financial Year (FY) 2020-21 and table-2 shows the percentage (%) of six different bus
models P-U sold by the automobile company A.

Based on the data in the table, answer the question.

Table-1 : Company-wise Sale of Buses

Company Distribution {%0) of sale of Buses
A 41%

B 8%

C %

D 3%

E 1%

F 40%

Table-2 : Model-wise Sales of Buses by Company A

Model Sale (%) of Bus Models
P 18%
Q 25%
R 12%
5 13%
T 20%
U 10%

ﬁﬂﬁ@ﬂm-l T faiia adf (Fv) 2020-21 H 38 44 ficHiasd Hufl A-F gRT S4 &1 fat &
TSR WTEaR] Afd=Id (%) YafRid 8 qur drfder-2 # sficHiasd U A gRT 94 T o3 4l 79 & Alsal
P-U I UId=Id (%) UalRid § | difeidh! 8 {38 T 3flds & SR UR HY P 3R alfol :

dIeIl-1 : HUAAR S4°1 I [oshl

ERERCEA R AR G
1%

8%

7%

3%

1%

40%

'-rih'lU(‘deb%

dIfeIep1-2 : Ul A gRI HISd-dR a1 Bl faehl

TG Aladl DI 9B (%)

18%

25%
12%
15%
20%
10%

C!HWWDW%(

What is the approximate percentage of number of buses sold by D to that of models P sold by A in 2020-217

1. 50%
2.35%
3. 40.65%
4. 38.72%
(1) 1
2) 2
(3) 3
4) 4

¥ 2020-21 H D §RI 91 T 597 @1 TBT &1 A GRI A5 P &I &9 BT TA1 B Wad a4 far g 2

1. 50%
2.35%
3. 40.65%
4. 38.72%
(1) 1
(2) 2




3) 3
(4) 4

1[Option ID=43513] Question Description : general_paper_genarel paper_set 35_english_q4
2[Option ID=43514]
3[Option ID=43515]
4[Option ID=43516]
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The following table-1 shows the percentage (%) market share of sale of buses of six different automobile
companies A-F in the Financial Year (FY) 2020-21 and table-2 shows the percentage (%) of six different bus
models P-U sold by the automobile company A.

Based on the data in the table, answer the question.

Table-1 : Company-wise Sale of Buses

Company Distribution (%) of sale of Buses
A 41%

B 8%

C I )

D 3%

E 1%

id 40%

Table-2 : Model-wise Sales of Buses by Company A

Model Sale (%) of Bus Models
P 18%
Q 25%
R 12%
s 15%
T 20%
U 10%

fafafaa aifasr-1 8 faxdia ad (7v) 2020-21 # 38 44 sficHiasd dufal A-F gRT 591 @ fasht a1
ISR AR wfa=id (%) yefRid & qur difder-2 # aficHidaRd Ul A gRT 94 T o3 4l 789 & Alsal
P-U &I Ul=Id (%) WelRid § | diferdt 8 &8 T e & TR IR Y P 3R alfol :

dIfeIpl-1 : UHIAR a91 i [dshl

S B [ BT G0l (%)
41%

8%

7%
3%
1%

40%

FdHUObdb%

.

IfAIP1-2 : YT A GRI AlSA-aR a1 &) fahl

]

cj—]mpdo*dac
o
2

If the number of buses sold by F 15 40000 in FY 2019-20 and the percentage growth in sale of buses is lEé%

“

in FY 2020-21, then what is the average number of buses sold by D, C, B and E in FY 2020-217?

.4035.64
2334.45
. 2137.55
. 5343.75
(1) 1
(2) 2

Lo b =




3) 3
(4) 4

gfe fa<ita a9 2019-20 F F gRT 9951 715 991 &1 T 40000 § 3R fa<iig af 2020-21 § 941 31 faept
wiowa afe 12%% 2, i fadfim af 202021 HD, ¢, B 3R E gRI ST TS 991 Bt 3irgd T fa-i g 2

4035.64
.2334.45
L 2137:55
5343.75

B

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43517] Question Description : general_paper_genarel paper_set 35_english_q5
2[Option ID=43518]

3[Option ID=43519]
4[Option ID=43520]

Sl. No.6
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How many DTH channels of swayamprabha are devoted to telecasting of high quality educational
programmes?

1. 37 DTH channels
2. 39 DTH channels
3. 36 DTH channels
. 34 DTH channels
(1) 1
(2) 2
(3) 3
(4) 4

YUY & b SICIUd J-d S UaTIuRe Q& SRichHl 1 U1 B & [y guitd ¢ 2

.37 ST 999
.39 SiIfTg T
.36 SIETg T
.34 SiETT TG
1) 1
2) 2
3) 3
4) 4

-5

e

1[Option ID=43521] Question Description : general_paper_genarel paper_set 35_english_q6
2[Option ID=43522]
3[Option ID=43523]
4[Option ID=43524]

Sl. No.7
QBID:35201007

Which of the following are the intellectual development characteristics of Adolescents ?

A. Imagination

B. Abstract emotions

C. Thinking and reasoning
D. Span of attention.

Choose the most appropriate answer from the options given below:

1. B, C and D only
2. B and D only
3. A, Cand D only
4. A, B and D only
1) 1
) 2
(3) 3
(4) 4




{2kl & difgd fabr & e FafaRed H D3 2

A, T
B. 3d HHIHTG
C. i Td d&on
D. &G

A fow e fawedl & O ¥ 3UgFd ITR HI 9 SIS

. $dd B, C3RD
_HJA B 3R D

. HAT A, C 3R D
. HAd A, B3R D

(1) 1
2) 2
3) 3
(4) 4

S R o R

1[Option ID=43525] Question Description : general_paper_genarel paper_set 35_english_q7
2[Option ID=43526]
3[Option ID=43527]
4[Option ID=43528]

Sl. No.8
QBID:35201008

A flipped classroom environment promotes:

1. Flexible learning culture
2. Fixed Learning culture
3. Face to face learning only
4. Fixed and passive learning culture.
1) 1
(2) 2
(3) 3
(4) 4

TS FaMg= Y (UTTe] P& arararyl fgfafad § 3 fed searars 2

1. 79 AT TEpid
2. Faa siferm Twpia
3. had HTHA-THA iR
4. Figa wd Ffspy siferm gl
1 1
(2) 2
3) 3
(4) 4

1[Option ID=43529] Question Description : general_paper_genarel paper_set 35_english_q8
2[Option ID=43530]
3[Option ID=43531]
4[Option ID=43532]

Sl. No.9
QBID:35201009

Given below are two statements:

Statement I: Canvas is a Learning Management System (LMS) that supports online teaching and learning.

Statement II : Canvas is a paid LMS.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement II is incorrect.
4, Statement I is incorrect but Statement I is correct.
1) 1
(2) 2
(3) 3
(4) 4




T e mue few aw &

BYUT I - gy eb HTUIH UgU U (ToUHATE) & ST Hi=ensa Qe v 389 & geraan uge
FRAT & |

FHUF 11 - Hard TH Gaed THvasd v |
I HUA F HElS 3, A G0 70 Kepedl A & Had SUYE 3aY o =94 DIl

LTIk ot a8 &

[

LHYT I 3R I g e ¥
3.%U9 1 @91 &, A Hu= 11 aTod & |

4. %Y 1 77T &, A HUF 1 T8 |
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43533] Question Description : general_paper_genarel paper_set 35_english_q9
2[Option ID=43534]

3[Option ID=43535]
4[Option ID=43536]

Sl. No.10
QBID:35201010

Tigsaw strategy is an example of:

. Problem solving

. Cooperative learning

. Team teaching

. Lecture-cum-Demonstration
(1) 1

(2) 2

(3) 3

(4) 4

formar Ty, Fefafaa & 3 g Iemru e 2

B

1. THWT BT IHIHE BT
2. YebRI HiTH
3. 2 fRremr
4. FRETH-Te- e

1 1

) 2

(3) 3

(4) 4

1[Option ID=43537] Question Description : general_paper_genarel paper_set 35_english_q10
2[Option ID=43538]
3[Option ID=43539]
4[Option ID=43540]

Sl. No.11
QBID:35201011

In case the focus of research is to improve a school in which students are participants and research supervisors
are teachers, such a research is termed as :

. Basic research

. Traditional research
3. Supervisory research
4. Action research

11

(2) 2

3) 3

(4) 4

b2 =




afe XY BT Biey TP 39 faenay # GuR a1 ¢, forad faemff ufaumh oiv <y vddes Rem drsa
WE & TP WY B fpu U d 94 fearmar g 2

1. A Y

2. JRERS Y

3. Tgeft <y

4. franfay Ty (e o=
1) 1

) 2

3) 3

4) 4

1[Option ID=43541] Question Description : general_paper_genarel paper_set 35_english_q11

2[Option ID=43542]

3[Option ID=43543]

4[Option ID=43544]

Sl. No.12

QBID:35201012

Selection or assignment of groups of people instead of individual respondents, based on the membership of a

group, location or some other identified variable for sampling is labelled as :

. Location sampling

. Stratified sampling
. Cluster sampling

. Collective sampling

b =

e Lo

(1) 1
(2) 2
3) 3
(4) 4

Ait=ae & o U g & Jawdl, Safufd 71 9o o ugaH 6t U =R 1R snenid aafdas
STRaTd1S & Tl AR & SHg! & 98- 91 Fgd & $f firg &9 8 dad fear 9di © 2

1[Option ID=43545] Question Description : general_paper_genarel paper_set 35_english_q12
2[Option ID=43546]
3[Option ID=43547]
4[Option ID=43548]

Sl. No.13
QBID:35201013

In correlational research, the deseription is of the relationship between:

. Nominal variables

. Interval variables
3. Intervening variables
4. Chance variables

(1) 1

(2) 2

3) 3

(4) 4

TeayTdS Y | [0 dg Gy S avfH gan e 2

b2 =

1[Option ID=43549] Question Description : general_paper_genarel paper_set 35_english_q13
2[Option ID=43550]
3[Option ID=43551]
4[Option ID=43552]




Sl. No.14
QBID:35201014

What are the three types of auto-ethnography?

A. Unobserved tales
B. Confessional tales
C. Impressionist tales
D. Critical tales

E. Formatted tales.

Choose the correct answer from the options given below.

A, Band Conly
.B. Cand D only
.C.D and E only
. A, Dand E only
1) 1
(2) 2
(3) 3
(4) 4

Wah: TOfG-a0H & DY T TPR & 2

A. 3T FUU

B. SHTEIPId YUY
C. UHTaarg] HUTd

D. MAEATHD HYUM
E. 3R=10d $uTd

A 2 9w fOeedl § ¥ HEL 3T @ 99 Sllad:

1.%dd A, B, C
2.$dd B, C,D
3.%dd C,D,E
4. $dd A, D, E

1 1

) 2

3) 3

) a

F i S e

1[Option ID=43553] Question Description : general_paper_genarel paper_set 35_english_q14
2[Option ID=43554]
3[Option ID=43555]
4[Option ID=43556]

Sl. No.15
QBID:35201015

Given below are two statements:

Statement I: Different research designs have different advantages. For example, the one-shot design is known
for quick results and efficiency.

Statement II : A longitudinal design is to study the same respondents over different periods of time and tracks
changes over the period of study.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement IT are false.
3. Statement I 1s true but Statement II is false.
4. Statement I is false but Statement II is true.

(1) 1

(2) 2

(3) 3

(4) 4




T e mue few aw &

U I - T oy fPeseul & fe e 8d € | Seexur & forw, Tohel ware Aidseusn oftg uftome ik
WO & ferw S St ¥

HUF I - T Fged Affwey e Haaf § tagas Soigidial & e e & AR a6 Feaae &
FHiemaid & gl uRadst & ol eendr © |

SUHITh @ @ 3Teileh &, @9 GW ¢ faehedl d O Hel IO @ = i
Loag 1 0 = g ¥ |
2.u= 1 3R 1 gt smca ¥
3.%u 1 B9 &, oifha U 1 38T ¥ |

4. U 1 3HT &, AT dUF 1 T & |
1) 1
(2) 2
(3) 3
4) 4
1[Option ID=43557] Question Description : general_paper_genarel paper_set 35_english_q15
2[Option ID=43558]

3[Option ID=43559]
4[Option ID=43560]

Sl. No.16
QBID:35201016

When communicators use their positive or good image to reduce negative feelings towards a product brand, it
implies

. The principle of congruity

. The principle of conformity
. The principle of connivance
. The principle of conviction

ba =

e Lo

1) 1
(2) 2
(3) 3
(4) 4

S GBS (G 3G P §is & Ud TORIAD HIGA131 &I e & [0 39+ TPRIAS g1 31 Bid
! Tad B § ol 558 S Afgaref € 2

1. Grfa &1 fagid
2. 3=l &1 Fgid
3. fireH-1Td &1 Rrgid
4. T¢ YROT &1 Rigid
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=43561] Question Description : general_paper_genarel paper_set 35_english_q16
2[Option ID=43562]
3[Option ID=43563]
4[Option ID=43564]

Sl. No.17
QBID:35201017

Which type of appeals work effectively when people are not strong and the source credibility is high?

. Informative appeals
. Positive appeals

. Benefit appeals

4. Negative appeals

1
2
3




gaﬁmﬁ%ﬁ@aﬁmﬁwﬁm%aﬁﬁwﬁ&rtﬁﬁw{msjmna"réﬂéaﬁﬁ?ﬁ

1. JEES

2. 9PRIHT 3l

3. fedd Rl smg

4. IPRIHD ¥

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43565] Question Description : general_paper_genarel paper_set 35_english_q17
2[Option ID=43566]

3[Option ID=43567]
4[Option ID=43568]

Sl. No.18
QBID:35201018

Which of the following are considered as more trustworthy than others in communication?

. Sales Persons

. Paid reviewers
. Friends

. Strangers

B

1 1
(2) 2
3) 3
(4) 4

Fafafaa o 9 feus! wov 8 s ot ga 8 siftie Iysia s su g am aar g 2

1. fafspaes
A TTAH-HITdhd | e
REF]

SfaRfrd

L b2

1) 1
(2) 2

(3) 3

(4) 4

1[Option ID=43569] Question Description : general_paper_genarel paper_set 35_english_q18
2[Option ID=43570]

3[Option ID=43571]
4[Option ID=43572]

Sl. No.19
QBID:35201019

Which of the following can be considered as semantic barriers in communication?

A. Functional specialization

B. Organizational policy

C. Faulty translation

D. Use of technical language
E. Unqualified assumptions

Choose the correct answer from the options given below:




frafafaa d @ o s § spima srersi & o & A ST 9@arg 2

A. TP faRssiar

B. ieH® i

c. aNgof siame

D. T@-1a! YIS BT T

E. RAT 3R &1 (eFeiioreTss) 9d-uRumg

A U 97 fOwedl # ¥ el 3T @ 99 dllad:

1.%dd A, B, C
2.%dd C, D, E
3. %4d B, C,D
4.%dd B, D, E
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43573] Question Description : general_paper_genarel paper_set 35_english_q19
2[Option ID=43574]

3[Option ID=43575]
4[Option ID=43576]

Sl. No.20
QBID:35201020

Given below are two statements:
Statement I: Personal communication is more effective than mass communication.

Statement I : Mass media may be a major stimulant of personal communication, affecting personal attitudes
and behaviour through a two-step flow.

In the light of the above statements, choose the correct answer from the options given below:

. Both Statement I and Statement II are true.

. Both Statement I and Statement IT are false.
. Statement I 1s true but Statement II is false.
. Statement I 1s false but Statement II is true.
(1) 1

2) 2

(3) 3

(4) 4

T e mue few aw

o =

e Lia

FU 1 : dAfihd FFUUOT S FEAR B g @ A79E vt & §

HuF I - A AfSar, dafhs T U & v uHE 3EUH 5 Gahdl 6, | 6 G-l waw & aread
dafre siffgfeet 3R wger & wenfag &=ar ¥

SR @A & 3elles &, A B0 7v Beheul & ¥ O 30X o 99 hifey:

L= Idr neat aem ¥

[

LHYT I AR I e e ¥
3.9y [ G &, Afehe] U 11 38T & |

4. %99 1 36T ©, Ofhad Y L JT & |
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43577] Question Description : general_paper_genarel paper_set 35_english_q20
2[Option ID=43578]

3[Option ID=43579]
4[Option ID=43580]

Sl. No.21
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What number would replace question mark (?) in the series given below: 2, 9, 20, 35, 54, 77, 2, 135

131
. 104
5125
.98
1)1
(2) 2
(3) 3
(4) 4

= €1 TS gRaan | o1 I TRe uyard s g (2) B wfoeuifud st 2

2,9, 20, 35,54, 77,2, 135

[

L

1.3
2. 104
125
.98
(1) 1
) 2
(3) 3
(4) 4

S

1[Option ID=43581] Question Description : general_paper_genarel paper_set 35_english_q21
2[Option ID=43582]
3[Option ID=43583]
4[Option ID=43584]

Sl. No.22
QBID:35201022

In how much time an investment of Rs. 50,000 at the rate of 5% simple interest would be doubled, if the
interest is added to the principal amount after every 10 years
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The average of 8 numbers is 30. Out of those 8 numbers, the average of first 2 numbers is 26 and that of next

three numbers is 28. The sixth number is less than seventh (?Ih) by 3 and less than eighth by 5. Find the eighth
number.
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A person has Rs.5,350 in the form of denomination of Rs. 50, Rs. 100 and Rs. 500 and the total number of
notes with him is 32. Find how many notes of Rs. 50, Rs. 100 and Rs. 500 denominations, respectively, he has
with him?
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In a certain coded language:

A. 'dura si ama' means Dogs are social animals'
B. 'ko ra ma ama' means Donkeys are mad animals’
C. 'du ko da hu' means 'Dogs, Donkeys and horses'

In this coded language, which of the words stand for 'mad' and 'social' respectively?

1. ma' and ko'
2. du' and 'ama’
3. ma' and 'st'
4. ama' and 'st'
(1) 1
(2) 2




3) 3
(4) 4

afe; feoeit e v &

A, g 3w B 37 § P IO WOR B ©
B. @I 117 31 37 37¢f § 719 T moft B @
C. gPISIE P13 P, T SR OIS

1 59 Peag UTu  FHUfafad O ¥ SO UrTer SR Wi Weal $1 o 91 il 2
.m.qﬁ—‘)—'ﬁ.

=Y I ¥

3T 3R

oy

bl

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=43597] Question Description : general_paper_genarel paper_set 35_english_q25
2[Option ID=43598]

3[Option ID=43599]
4[Option ID=43600]

Sl. No.26
QBID:35201026

Identify the informal fallacy in the following argument - "No one has ever given an indubitable proof
regarding impossibility of life on Planet X therefore one can conclude that there is life on Planet X"

1. Appeal to Ignorance
2. Red Herring
3. Straw man
4, Appeal to Inappropriate authority
1) 1
() 2
3) 3
(4) 4
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As per traditional square of opposition which of the following statements are sub alternate?

A. All plants are oxygen-producers.

B. No plants are oxygen producers.

C. Some plants are not oxygen producers.
D. Some plants are oxygen-producers..

Choose the correct answer from the options given below:

1.Band D only
2. Cand D only
3.Band C only
4. Aand B only

1) 1

(2) 2

(3) 3

(4) 4
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Which of the following statements are logically equivalent?

A. Some animals are not carnivorous organisms.

B. Some animals are not non-carnivorous organisms,

C. Some non-carnivorous organisms are not non-animals.
D. Some animals are non-carnivorous organisms.

Choose the correct answer from the options given below:

1. B and D only

2. A, BandDonly
A, Cand D only
.Band C only
(1) 1

(2) 2

(3) 3

(4) 4
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If the statement "No lions are herbivorous animals”, is given as true, then which of the following statements
can be immediately inferred to be false?

A, All lions are herbivorous animals.
B. Some lions are herbivorous animals.
C. Some lions are not herbivorous animals.

Choose the correct answer from the options given below:

. B only
Aand B only
. Aand C only
. Conly
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(3) 3

(4) 4
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Which of the following type of inference is based on mere co-existence of middle and major term as per
classical Indian school of Logic (Nyaya)?

. Sadhyasama

. Samanyatodrsta
. Shesavat

. Purvavat
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Consider the following snapshot of MS-Excel worksheet:

A B C D
1 Roll Number Marks Test- 1 Marks Test - 2 Total Marks
2 101 80 60 140
3 102 70 50 120
4 103 40 30 70
5 104 30 32 62
6 105 85 85 170
7 106 65 80 145
8 107 72 26 168
9 108 25 32 57
10 109 20 78 168
11 110 25 40 65
12

The formula = IF (B10 + C10>100, IF (D10 > 100, "A","B"), "C") in cell D12 will result in

1.A

2:B

3.€

4. AC
1) 1
(2) 2
(3) 3
(4) 4
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Given below are two statements:

Statement I: Trojan Horse is a malware program designed to restrict the access to the victim's data until victim
pays for it.

Statement II : Google's G-Suite and GitHub are examples of SaaS Cloud Computing.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement II is true.
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Which of the following statemnents about the URL given below are correct?
http://www.mygov.in/index.html

A http is the name of the protocol and stands for HyperText Transaction Protocol
B. .in is a top-level domain name and represents a website hosted in India
C. .mygov. is a second-level domain name in the name of the website.

Choose the most appropriate answer from the options given below:

.Aand B only
. Aand C only
. B and C only
A, Band C
11
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(3) 3

(4) 4
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1 yotta byte =

1. 1024 Terabytes

2. 1024 Exabytes

. 1024 Zettabytes
. 1024 Petabytes

1) 1

(2) 2

(3) 3

(4) 4

1 TgTaTSe = :

. 1024 SEES

. 1024 TaaTaTgE
1024 WgTEEE
L1024 Uerdige

1 1

2) 2

3) 3

@) a

e

B

1[Option ID=43633] Question Description : general_paper_genarel paper_set 35_english_q34
2[Option ID=43634]
3[Option ID=43635]
4[Option ID=43636]

Sl. No.35
QBID:35201035

Identify the correct sequence in chronological order of the following four major enabling technological
developments that have paved the way for e-commerce.

A. Invention and mass production of PC.

B. Release of Netscape's Navigator browser which introduced SSL encryption.
C. Development of the Internet by ARPA.

D. Creation and release of WWW.

Choose the correct answer from the options given below:

A D,
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2.C.,A.D.B
3.A,C,D,B
4.D,A,C.B
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Given below are two statements:

Statement [: Some microorganisms, especially protozoan, are able to survive conventional disinfection
process.

Statement II : Some carcinogens, such as chloroform, are created during chlorination process.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.

2. Both Statement I and Statement IT are incorrect.

3. Statement I 1s correct but Statement II is incorrect.
4, Statement I is incorrect but Statement II is correct.

1 1
2) 2
3) 3
4) 4
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The framework agreement of International Solar Alliance (ISA) was opened for signature of member countries

in

. New Delhi, India

. Paris, France

. Geneva, Switzerland
. Marrakesh, Morocco
1) 1

) 2

3) 3

4) 4
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Reducing Child Mortality was one of the goals of:

. Sustainable Development Goals (SDGs)
. Millennium Development Goals (MDGs)
3. Both SDGs and MDGs
4. Neither SDGs nor MDGs
1) 1
(2) 2
(3) 3
(4) 4
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Dioxins are emitted during combustion of:

. Diesel

. Coal

. Plastic

. Biomass
(1) 1

(2) 2

(3) 3

(4) 4
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Given below are two statements:
Statement I: Flat-plate solar collector has an optical concentrator.

Statement IT : In concentrating type solar collector the area receiving the solar radiation is several times greater
than the absorber area.

In the light of the above statements, choose the Correct answer from the options given below:

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement IT are false.
3. Statement I 1s true but Statement II is false.
4, Statement I 1s false but Statement II 1s true.

(1) 1

(2) 2

3) 3

(4) 4
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Taxila was one of the chief centres for imparting:

1. Veterinary science
2. Trade and Commerce
3. International relations
4. Medical science and surgery
1) 1
() 2
3) 3
4) 4
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The focus of the First Five Year Plan was on :

1. General Education
2. Professional and Management Education
3. Medical Education
4. Teacher Education
11
(2) 2
(3) 3
4) 4
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Given below are two statements:

Statement [: A private university is established through a state or Central Act by a society registered under the
Societies Registration Act.

Statement IT : The chancellor of a private university is appointed by the Chief Minister of the State or Prime
Minister of the country, as the case may be.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement IT are correct.

. Both Statement I and Statement IT are incorrect.

. Statement I 1s correct but Statement II is incorrect.
. Statement I 1s incorrect but Statement II is correct.
(1) 1

2) 2

(3) 3

(4) 4
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Which of the following are the characteristics of Non-conventional learning?

A. Controlled and assessed by the teacher
B. Learner oriented

C. Based on lecture method

D. No fixed curriculum

E. Cost-effective

Choose the most appropriate answer from the options given below:

A, Cand E only
.Band D only
.B.Dand E only
A, Cand D only
1) 1

2) 2

(3) 3

(4) 4
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What s the full form of NHERC'?

. National Higher Education Regulatory Council

. Non-Governmental Higher Education Rehabilitation Couneil
3. National Higher Educational Regional Centre

4. National Higher Education Research Committee

[ SR

1)1
(2) 2
(3) 3
(4) 4
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Read the following passage and answer the question :

A SPACEX rocket was launched from California carrying a US-French satellite designed to conduct the first
global survey of the Earth's Surface waters, shedding new light on the mechanics and consequences of climate
chantge. The Surface Water and Ocean Topography satellite, or SWOT, incorporates advanced microwave
radar technology to collect high definition measurements of ocean, lakes, reservoirs and rivers over 90% of the
globe. The data compiled from radar sweeps of the planet at least twice every 21 days, will be used to enhance
ocean-circulation models, bolster weather and climate forecasts and aid in managing scarce freshwater
supplies in drought-stricken regions. Components of the SUV sized sattellite were built primarily by NASA's
Tet Propulsion Laboratory near Los Angeles and the French space agency CNES. Nearly 20 years in
development by the US space agency with contributions from its counterparts in Canada and Britain, SWOT
was one of 15 missions listed by the National Research Council as projects NASA should undertake in the
coming decade. One major thrust of the mission is to explore how oceans absorb atmospheric heat and carbon
dioxide in a process that naturally regulates global temperatures and has helped to minimize climate change.
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The data collected from SWOT satellite will be used in

. earthquake prediction

. improving weather and climate forecasts

. enhancing ocean circulation models

. managing freshwater supplies in droughrt prone regions.

Onwe

Choose the most appropriate answer from the options given below:

1. A B and C only
2.B, Cand D only
. A.Band D only
A, Cand D only
1) 1
(2) 2
(3) 3
(4) 4

THSsg3Ndl I U Ad sips! o1 Hufafad & 9 fg-feow o wgh fear s 2
A. &Y qaiga=
B. Eﬁ q wicrarg Yatgar 3 guR

C. HeMNR UREre- Hisdl & It
D. @1 9au! &30 § q1e oid 1 SMafdd &1 vee

A1 G v fawmedl & § Hadl 3UYh IR B 994 Bl

1.FAAA, B AR C
2.%FAB, C AR D
3. PaT A, B3R D
4. HATA, C AR D

1) 1

@ 2

@) 3

4) 4

R T

1[Option ID=43681] Question Description : general_paper_genarel paper_set 35_english_q46
2[Option ID=43682]
3[Option ID=43683]
4[Option ID=43684]

Sl. No.47
QBID:35201047




Read the following passage and answer the question :

A SPACEX rocket was launched from California carrying a US-French satellite designed to conduct the first
global survey of the Earth's Surface waters, shedding new light on the mechanics and consequences of climate
chantge. The Surface Water and Ocean Topography satellite, or SWOT, incorporates advanced microwave
radar technology to collect high definition measurements of ocean, lakes, reservoirs and rivers over 90% of the
globe. The data compiled from radar sweeps of the planet at least twice every 21 days, will be used to enhance
ocean-circulation models, bolster weather and climate forecasts and aid in managing scarce freshwater
supplies in drought-stricken regions. Components of the SUV sized sattellite were built primarily by NASA's
Tet Propulsion Laboratory near Los Angeles and the French space agency CNES. Nearly 20 years in
development by the US space agency with contributions from its counterparts in Canada and Britain, SWOT
was one of 15 missions listed by the National Research Council as projects NASA should undertake in the
coming decade. One major thrust of the mission is to explore how oceans absorb atmospheric heat and carbon
dioxide in a process that naturally regulates global temperatures and has helped to minimize climate change.
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How many years has it taken the US space agency to develop the SWOT satellite?

.~ 10 years
.~ 20 years
~30 years
~40 years

e

(1) 1
(2) 2
(3) 3
(4) 4

HI@T sfafees Toidl 1 THSsy el 3uUE @l [da i o3 d Fafaf@a d 9 fpar ad @ g 2

~10ay
~20a9
~30aY
~40TY

b e
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(1)1

(2) 2

(3) 3

(4) 4
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Read the following passage and answer the question :

A SPACEX rocket was launched from California carrying a US-French satellite designed to conduct the first
global survey of the Earth's Surface waters, shedding new light on the mechanics and consequences of climate
chantge. The Surface Water and Ocean Topography satellite, or SWOT, incorporates advanced microwave
radar technology to collect high definition measurements of ocean, lakes, reservoirs and rivers over 90% of the
globe. The data compiled from radar sweeps of the planet at least twice every 21 days, will be used to enhance
ocean-circulation models, bolster weather and climate forecasts and aid in managing scarce freshwater
supplies in drought-stricken regions. Components of the SUV sized sattellite were built primarily by NASA's
Tet Propulsion Laboratory near Los Angeles and the French space agency CNES. Nearly 20 years in
development by the US space agency with contributions from its counterparts in Canada and Britain, SWOT
was one of 15 missions listed by the National Research Council as projects NASA should undertake in the
coming decade. One major thrust of the mission is to explore how oceans absorb atmospheric heat and carbon
dioxide in a process that naturally regulates global temperatures and has helped to minimize climate change.
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Given below are two statements:

Statement [: SWOT satellite will monitor the surface waters over the entire earth.
Statement IT : SWOT satellite is expected to improve our understanding of climate change.
In the light of the above statements, choose the correct answer from the options given below:

. Both Statement I and Statement II are true.

. Both Statement I and Statement IT are false.
. Statement I is true but Statement II is false.

. Statement I is false but Statement II is true.

(1) 1

) 2

3) 3

(4) 4
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3) 3
(4) 4
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Read the following passage and answer the question :

A SPACEX rocket was launched from California carrying a US-French satellite designed to conduct the first
global survey of the Earth's Surface waters, shedding new light on the mechanics and consequences of climate
chantge. The Surface Water and Ocean Topography satellite. or SWOT, incorporates advanced microwave
radar technology to collect high definition measurements of ocean, lakes, reservoirs and rivers over 90% of the
globe. The data compiled from radar sweeps of the planet at least twice every 21 days, will be used to enhance
ocean-circulation models, bolster weather and climate forecasts and aid in managing scarce freshwater
supplies in drought-stricken regions. Components of the SUV sized sattellite were built primarily by NASA's
Tet Propulsion Laboratory near Los Angeles and the French space agency CNES. Nearly 20 years in
development by the US space agency with contributions from its counterparts in Canada and Britain, SWOT
was one of 15 missions listed by the National Research Council as projects NASA should undertake in the
coming decade. One major thrust of the mission is to explore how oceans absorb atmospheric heat and carbon
dioxide in a process that naturally regulates global temperatures and has helped to minimize climate change.
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SWOT satellite has primarily been built by

A. France
B. Germany
C. Russia
D.US

Choose the most appropriate answer from the options given below:

1. Aand B only
2.Band C only
3. Aand D only
4. C and D only

1) 1

(2) 2

(3) 3

(4) 4
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Read the following passage and answer the question :

A SPACEX rocket was launched from California carrying a US-French satellite designed to conduct the first
global survey of the Earth's Surface waters, shedding new light on the mechanics and consequences of climate
chantge. The Surface Water and Ocean Topography satellite, or SWOT, incorporates advanced microwave
radar technology to collect high definition measurements of ocean, lakes, reservoirs and rivers over 90% of the
globe. The data compiled from radar sweeps of the planet at least twice every 21 days, will be used to enhance
ocean-circulation models, bolster weather and climate forecasts and aid in managing scarce freshwater
supplies in drought-stricken regions. Components of the SUV sized sattellite were built primarily by NASA's
Tet Propulsion Laboratory near Los Angeles and the French space agency CNES. Nearly 20 years in
development by the US space agency with contributions from its counterparts in Canada and Britain, SWOT
was one of 15 missions listed by the National Research Council as projects NASA should undertake in the
coming decade. One major thrust of the mission is to explore how oceans absorb atmospheric heat and carbon
dioxide in a process that naturally regulates global temperatures and has helped to minimize climate change.
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Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Oceans help in minimizing climate change.

Reason R : Oceans absorb carbon dioxide.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both A and R are correct and R is the correct explanation of A.

. Both A and R are correct but R is not the correct explanation of A.

. A 1s correct but R is not correct.

. A is not correct but R is correct.

1) 1

(2) 2

(3) 3

4) 4
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According to C. I. Bernard, Zone of Indifference denotes :

. The limit where actions are clearly unacceptable and will not be carried out.

. The limit where actions are barely unacceptable and have weak chances of being carried out.

. The limit within which individuals will respond willingly to the exercise of authority over them.
. The limit where no directions are given to carry out actions.

(1) 1

(2) 2

3) 3

(4) 4
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(2) 2
3) 3
4) 4
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3[Option ID=43903]
4[Option ID=43904]

Sl. No.2
QBID:155002

The phenomenon, arising basically from people being "noticed", is known as :

. Psychological Effect
. Observational Effect
. Hawthrone Effect

. Mayo Effect

(1) 1

(2) 2

(3) 3

4) 4
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Which of the following establishes a required method of handling future activities?

. Strategy

. Procedure

. Programme
. Rule

1 1

(2) 2

(3) 3

(4) 4
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(1) 1

(2) 2

(3) 3

4) 4
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Which of the following factors would not lead to narrow span of management?

. Inadequate delegation of authority

. Fast changing environment

. Effective interaction between superior and subordinate
. Subordinate's unwillingness to assume responsibility
1) 1

() 2

[ S R
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3) 3
(4) 4

FRTRId HRDI H Y HIH-UI HRE A iod YatH b [dXIR &l 9g1a1 Tg! aal g ?

1. TTTaRR0] T 3IaT gl

2. g araraRur ufRaad

3. AR 3R el & o WHIdl Srfebar
4. 3G o & Ufd ey &l =1

(1) 1
(2) 2
3) 3
(4) 4
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Which of the following performance appraisal techniques generate critical incidents and develops behavioural
dimensions of performance?

1. Critical Incident Appraisal

2. Adjective Rating Scale Appraisal

3. Forced Choice Appraisal

4. Behaviourally Anchored Rating Scales
(11

) 2

(3) 3

(4) 4
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An employee development method which was popularized at the Harvard Business School and which focuses on
the cases of actual experiences of organizations to make the trainees determine the problems, analyse the causes

and develop alternative solutions, is referred as :

1. Committee Assignment
2. Simulation

3. Job Rotation

. Outdoor Training

(11

) 2

(3) 3

(4) 4
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Which of the following is not a flexible work arrangement?

. Telecommuting

. Job sharing

. Compressed workweek
. Time off

)1

2) 2

(3) 3

(4) 4
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Which of the following is one time payment that some employers pay at the time of terminating an empolyee?

. Supplemental pay
. Severance pay

. Insurance pay

. Disability pay

(1) 1

) 2

3) 3

(4) 4
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(1) 1

(2) 2

(3) 3

4) 4
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Which of the following is not an organizational level intervention?

. Appreciative Inquiry
Parallel Learning Structure

. Transformational Leadership
. Team Building

)1

(2) 2

(3) 3

(4) 4
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Which of the following is not an element of knowledge management?

. Knowledge creation

. Knowledge sharing

. Knowledge emigration
. Knowledge utilization
(11

2) 2

(3) 3

(4) 4
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Which of the following dimensions of Balance Score Card focus on production and operating statistics, such as
order fulfillment or cost per order?

1. Business Process

2. Financial Performance
3. Customer Service

4. Learning and Growth
11

() 2

(3) 3

4) 4

S (Hda) THRDIS & FafaRad H U HMH-Y A STERYfd 3ral drTavld 3TE & S i 3R
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1. SIa9IA® ulchan
2. fa<irg F9re
3. Yrgd Tdl
4. 3{1EATH SR dalg
1) 1
2) 2
(3) 3
4) 4
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What is the name of the strategy in which MNC's look for innovation and design and produce new products to
gain competitive advantage?

1. Reactors
2. Prospectors
3. Analysers
4. Defenders
1) 1
2 2
(3 3
4) 4

3 BRI (cesih) D1 A 1 ¢ [oraH Big IgAPH R TaHY AR [SH15T (siiHeben) o1 ol
(Ucie) Bl & R Uiaeaeiat® ary UM g ¢ 3dTal Bl &1l g 2

1. RudeR
2. Uiy
3. TAlcgoR (f[d%eiyd)
4. ey
1 1
) 2
3) 3
4) 4
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Which of the following represent the extent to which group members support and validate one another while at
work?

1. Group Collaboration
2. Group Functioning

3. Group Cohesion

4. Citizenship Behaviour
)1

(2) 2

(3) 3

(4) 4
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1. T YEPR
2. G HRDHRI
3. gHg JYo
4. ARTRS Al HGGR
1 1
(2) 2
(3) 3
4) 4
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The 'emotional’ or 'feeling' aspect of the statement, "I am angry over how little I am paid", represents which
component of attitude?

1. Cognitive component
2. Affective component
3. Behavioural component
4. Normative component
1) 1
2) 2
3) 3
(@) 4
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1. GYMETHD U
2. YIdTHD HY9dh

3. YHdgRIHD Uch
4. 9D GUCh

(1)1

(2) 2

(3) 3

(4) 4
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Which one of the following is not an organisational factor of stress?

. Task structure

. Role expectations

. Interpersonal variables
. Perception

W D =
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(1) 1
(2) 2
(3) 3
(4) 4
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1. PRIHR =T
2. YftyenT 3Memy
3. Sfqdgidad @)
4. Y&
1) 1
(2) 2
(3) 3
(4) 4
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Which one of the following is a personality dimension that characterizes some one as calm, self-confident and
secure versus nervous, depressed and insecure?

. Conscientiousness
. Agreeableness

. Extra version

. Emotional Stability
1) 1

) 2

3) 3

4) 4

fFrfaRad ® S 91 afdkia &1 T 31 ¢ Sl fdl Atk 1 3R, Sfaure SR RRIEM & Heblad id,
HTAfayE! 3R YRIEM & &g H Salad Sdl s 2

1. 3f: fad it

_ggAfd - Wbdl
4. HIaTHS QAT

1) 1

) 2

(3) 3

4) 4
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"Industrial Relations is an art, the art of living together for purposes of production”, who said this?

. Richardson. J. H.
. Pigou, A. C.

. Dunlop, J. T.

. Flanders. A.

11

() 2

(3) 3

(4) 4
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1. RS9, 9. T,
2. Gy, T

3. 39dY, S
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(1)1

(2) 2

(3) 3

(4) 4
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"The labour movement prepares the ground where in the seed of trade unionism grows", who said this?

.G.D.H. Cole

. S. D. Punekar

. Karl Marx

. Frank Tannenbaum
(1 1

() 2

3) 3

(4) 4
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1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=43969] Question Description : labour_welfar_labour welfar_set 1_english_q18
2[Option ID=43970]

3[Option ID=43971]
4[Option ID=43972]

Sl. No.19
QBID:155019

Which trade union was a laboratory for experiencing ideas about industrial relations as perceived by Gandhijee?

. Madras Labour Union

. Textile Labour Association of Ahmedabad
. All India Trade Union Congress

. The Bombay Millhands' Association

1) 1
(2) 2
3) 3
4) 4
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4. §7d g9 TR

(1) 1
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(2) 2

(3) 3

4) 4
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Who authored the book "Trade Unionism in the New Society?"

. Harold J. Laski

.G.D.H. Cole

. Sidney and Beatrice Webb
. S. D. Punekar

1) 1

(2) 2

3) 3

4) 4
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What would be the maximum compensation to a workmen in case of closure of an organisation on account of
unavoidable circumstances beyond the control of employer?

1. Six months salary

2. Three months salary

3. One year salary

. 15 day's average pay for every completed year
(11

(2) 2

(3) 3

(4) 4

et O Tie &1 561 & A § Uh HHBR &f 9 H I foar siferdan ufasr <g g gl §dl T
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In which of the following Supreme Court Judgement, the two-judge bench has delivered a momentous judgement
on government servant's right to strike on 6th August 2003?

1. T. K. Rangarajan Vs. Government of Tamil Nadu
2. Bharat Kumar K. Palicha Vs. State of Kerala

3. Kameshwar Prasad Vs. State of Bihar

4. Meghraj Vs. State of Rajasthan

11

() 2

(3) 3

4) 4

JqH AT & &l 5ol B Uis R 6 3R, 2003 B! feu 78 fFHfaRad oo g § e sl
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1. &, TR 4 dfAeHrg R
2. HRAHHR & TTedl= G111 HId oY
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(1) 1
2 2
3) 3
(4) 4
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In which session of the Indian Labour Conference, the question of framing standing orders came up for
consideration?

1. The Fifth Indian Labour Conference
2. The Eighth Indian Labour Conference
3. The Fifteenth Indian Labour Conference
4. The Sixteenth Indian Labour Conference
1) 1
2) 2
3) 3
4) 4
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In which organisation the schemes of Workers' Participation in Management 1983 was made applicable?

1. Public Sector Undertakings
2. Private Sector Undertakings

3. Central Public Sector Undertakings
4. State Public Sector Undertakings

1) 1




) 2
3) 3
(4) 4
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1. Grao-d &7 & IushH

2. (it & & IuehH
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1) 1
2) 2
3) 3
(4) 4
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Who appoints certifying surgeons for the purposes of the Factories Act, 1948?

. Central Government
. State Government

. Chief Inspection

. Occupier

1 1

(2) 2

3) 3

(4) 4
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First Aid room shall be provided and maintained in every mine employing more than :

. One hundred (100) Persons

. One hundred and fifty (150) Persons
. Two hundred and fifty (250) Persons
. Five hundred (500) Persons

1 1

() 2

(3) 3

4) 4
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(1)1

(2) 2

(3) 3

(4) 4
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As per the Child and Adolescent Labour Act, 1986, the period of work of adolescent shall be so arranged that
inclusive of his interval for rest, it shall not be spread over more than :

1. Five hours
2. Five and half hours
3. Six hours
4, Ten and half hours
(1)1
() 2
(3) 3
4) 4

q1l Ud fh=IRY# HUFTH, 1986 P YR fdbdl fhRIR & S Pi 3{afY DI 39 UbR AR fhg1 ST
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(2) 2
3) 3
(4) 4
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Inter-State Migrant Workmen Act, 1979, applies to every establishment in which inter-state migrant
workmen are employed or were employed on any day of the preceding twelve months.

1. Five or more
2. Ten or more
3. Twenty or more
4. One hundred or more
11
(2 2
(3) 3
() 4
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Every application to all claims arising out of payment of less than the minimum rates of wages under the
Minimum Wages Act, 1948 shall be presented to appropriate authority within which month from the day on

which it became payable ?

. One month

. Six months

. Twelve months

. Twenty four months
11

() 2

3) 3

4) 4
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1) 1

) 2

3) 3
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When there is a dispute regarding payment of bonus pending before any authority, then the bonus shall be paid
within which month from the date on which the award becomes enforceable or the settlement comes into

operations ?

1. One month
2. Six months
3. Eight month
4. Twelve months
1) 1
) 2
(3) 3
4) 4
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1) 1
(2) 2
3) 3
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Who constitutes advisory committee under the Equal Remuneration Act, 1976?

1. Employer

2. Occupier

3. Chief Inspector

4. Appropriate Government
)1

(2) 2

(3) 3

4 4

A TRHHS MUFTH, 1976 & 3T AR A B3 FE H T DH HA16 2

1. e

2. SATEWICT
3. g e

4. G WDPR

1) 1

2) 2

(3) 3

(4) 4
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Match List I with List IT

LISTII
- (Authority or Body related to
(Name of the Laws) : g
Law)
A. [Minimum Wages Act, 1948 1. |Controlling Authority
B. [Equal Remuneration Act. 1976 II. |Central Board
C. |Payment of Gratuity Act, 1972 [1I. |JAdvisory Committee
! Emp!oye_es Provident Fund & Mics. Provisions fit Witvieons Bisar
Acts, 1952 ¥

Choose the correct answer from the options given below:

1. A-IV, B-III, C-I, D-II
2. A-III, B-IV, C-I, D-II
3. A-IL, B-III, C-1, D-IV
4. A-II, B-1, C-III. D-IV
1) 1
2) 2




3) 3
(4) 4

Gl 1 T1Y Y1 11 DT 7 Difoy

gt 11 (At & Tetea iRt /
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A, [RIAdH HSie SR, 1948 I [ wieri
B. [gHH Ui sifaf=aH, 1976 . [H=gdae
C. [3UTer YarT A9, 1972 I [qRMERI 9
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B ST, 1952 i dis

FafeRad famedl & U T8l IR &1 99 HIfoTT ;

1. A-IV, B-1IIL, C-1, D-1T

2. A-IIT, B-1V, C-1. D-II

3. A-II, B-1II, C-1. D-1IV

4. A-11, B-I, C-III, D-IV

1) 1

(2) 2

(3) 3

(4) 4
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Which one of the following theory of Labour Welfare assumes that without compulsion and fear of punishment,
employers will not provide even the minimum welfare facilities for the workers?

1. Placating Theory
2. Trusteeship Theory
3. Functional Theory
4. Police Theory

1) 1

) 2

(3) 3

4) 4

1 g0l & fgfaiad # 9 oy Rigid o1 ag A1 8 i foer aifardar vd <s & g & fiaar sfere!
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1. Wit Rigid
2. IRdT Rgid
3. YPHTHD Ngid
4. gferg fgia
11
) 2
3) 3
4) 4
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What among the following is NOT the internal cause of accidents?

. Equipment and other work related tangibles
. Harmful materials

. Human factors

. Toxic chemicals

1 1

(2) 2

(3) 3

4) 4
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2. Bl RS gl
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(1) 1
(2) 2
3) 3
(4) 4
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Which one of the following is NOT a preventive measure for occupational disease?

. Pre-employment and periodic medial examination
. Removal of health hazards to the extent possible

. Provision of first aid and ambulance services

. Education of workers in health and hygine

1) 1

) 2

(3) 3

4) 4

UM Sid AT g MRS 3ur FHiaRdd § 9 SH-91 g1 g 2

1. G-I U4 afrafee it uRiafmn
2. gYT YT W W] Bl gl
3. YU fafd e ud Ugciy arsii &1 Iudy
4. FHBRI B WY Ud W5d] [avad fRef
(1) 1
(2) 2
(3) 3
4) 4
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Which one of the following principles of Labour Welfare assumes that a combination of social, emotional and
economic welfare together will achieve good results?

1. Principle of Responsibility
2. Principle of Adequacy of Wages
3. Principle of Totality of Welfare
4. Principle of Efficiency

(11

(2) 2

(3) 3

(4) 4
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(1)1

(2) 2

(3) 3
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Other factors remaining constant, with decrease in wage rates, what the demand for Labour will show ?

1. An upward trend

2. A downward trend

3. Will remain constant

4. Will show slight downward trend before stabilizing

1) 1
(2) 2
3) 3
(4) 4
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1) 1

2) 2

(3) 3

(4) 4
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Which one of the following is NOT the characteristic of Indian Labour Market?

1. Diversity in the work force

2. Lack of perfect mobility

3. Productivity of Labour

. Monopsoney in Labour Market
1) 1

2) 2

(3) 3

(4) 4
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) 2
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3) 3
(4) 4
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Which one of the following Convention No. adopted at 100th ILO's International Conference in Geneva
guarantees "Decent Work for Domestic Workers"?

. Convention No. 189
. Convention No. 193
. Convention No. 200
. Convention No. 205
1 1
(2) 2
(3) 3
4) 4
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1. T T=AT - 189
2. 3MUYHT G&=AT - 193
3. MUY &7 - 200
. T T@=AT - 205

1) 1
(2) 2
3) 3
4) 4
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Fluctuations occur in the economy due to phases of boom, recession, depression and recovery in the trade cycle.
The Unemployment caused due to these phenomenon is called :

1. Chronic Unemployment
2. Structural Unemployment
3. Frictional Unemployment
. Cyclical Unemployment
1) 1

2) 2

(3) 3

(4) 4

IR I5h H doll, 3faHeH, Hel 3R Ravad] 31 a1 & HRU fcqaed] § IaR-d¢ld SAd gldi o | 34
afee13Mf & BRI 3T Bl dlcll sRISHIRI dgdldl §

N

1. Hifdd dRISATR]
2. AREATHD RIS

3. UBTUIIG-IOD GNIUFII{nI
4. IH 1T IRIRT
(1)1
(2) 2
(3) 3
(4) 4

1[Option ID=44057] Question Description : labour_welfar_labour welfar_set 1_english_q40
2[Option ID=44058]
3[Option ID=44059]
4[Option ID=44060]

Sl. No.41
QBID:155041




Recentralisation is :

A. a complete reversal of decentralisation

B. a complete centralisation of all activities

C. a decentralisation of all activities

D. a partial centralisation as the authority delegated is not completely withdrawn

Choose the correct answer from the options given below :

A and B Only
.A,Band D Only
. C Only

. D Only

)1

2 2

3) 3

(4) 4

WWUT%

A. fadgiaur &1 guf Iahaul

B. 9T Tfciafergl &1 guf i

C. gt Tifafafemi &1 fadb=<ibrul

D. 3HTRId b5 IB] 5d UIADHRU & 3{ebR Yuld: TXANId Aol oIl 6 |

i< fU U fah eyl 1 9 Yol 3R &1 98- Hifou ;

1. FdAA3RB
2. FIA A, B3R D
3. ®dd C
4.%dd D

1) 1
(2) 2
(3) 3
4) 4

B R S I

1[Option ID=44061] Question Description : labour_welfar_labour welfar_set 1_english_q41
2[Option ID=44062]
3[Option ID=44063]
4[Option ID=44064]

Sl. No.42
QBID:155042

Which of the following statement(s) is / are correct about the classical approach to decision making ?

A. Decision making is completely rational in terms of means and ends
B. Man is able to order his preferences so as to get best results

C. While choosing the cause of action, man attempts to satisfy or look for the alternative that is good enough

D. Decisions are also based on rule of thumb, tricks of trade or force of habit.
Choose the correct answer from the options given below :

. A, Band C Only
. Aand B Only
B and D Only
C and D Only

:33-5)-1!-_31--&

(1) 1
(2) 2
3) 3
(4) 4



frgfafad suRi 4 G -8 A v o & IR U & IR § Jel © |

A TTe 3R 91 & Ha # fig 1 gofa: 9 Ima € | _

B. A dgaR YRUITH! &I Ut - g 301 Yrfiasarsdl ol Jaiford ox- # 90 g |

c.gﬂ@:ﬂquﬁwaﬂﬁwmmmmqﬁmm%@mmv Y & =G0 & fe1T warg &l
|

D. [FuRg yfduried FroHl, YR St ardrd! Ud siad $f digdl IR T srenikd g |

i f3U TU f[ddhedi § T gl 3R 1 hdd Pl -

1. Hdd A, B3R C
2. HId A 3R B
3. HIAB 3R D
4.%dd C 3ARD

1) 1
(2) 2
(3) 3
4) 4

1[Option ID=44065] Question Description : labour_welfar_labour welfar_set 1_english_q42
2[Option ID=44066]
3[Option ID=44067]
4[Option ID=44068]

Sl. No.43
QBID:155043

Which of the following are the methods of collecting job analysis information ?

A. Observation

B. Participant Diary / Logs

C. Dejobbing

D. Position Analysis Questionnaire
E. Reengineering

Choose the correct answer from the options given below :

. Aand B Only

C and D Only
.A,Band D Only
. B, C and E Only
(11

2) 2

(3) 3

(4) 4

FT [IRAY0 Ga1 Thiad e 3t faftml Fafafaa d 9 e g

A, T&o
B. ufaHmft s’} / @

C. SR (FSSiem)
D. U< [d2ayur ysrael

E. QAT (Rg=sif-rafam

i feU U fa el # 9 9ed Iugdd IR D1 90 HIfoU -

1. $dd AR B
2. HAd C 3R D
3. Hdd A. B3R D
4. HdAB, C 3R E
11
) 2
3) 3
(4) 4

W Y =

I




1[Option ID=44069] Question Description : labour_welfar_labour welfar_set 1_english_q43
2[Option ID=44070]
3[Option ID=44071]
4[Option ID=44072]

Sl. No.44
QBID:155044

What is the name of human resource forecasting tool which studies a firm's past employment needs over a period
of years to predict future needs?

1. Ratio Analysis
2. Trend Analysis
3. Scatter Plot
4. Computerized forecast
)1
(2 2
(3) 3
(4) 4

HId Y1 YdIHT SUBRUT BT A R g Sl [l BH Bi gd (IS HTa=gahdlsi &l HId! Saadaraii
& Ua-HM 8 3T Hd1 g 2

1. 3{UTd fagsor
. vgf faeyo
bR Wie
4. P YdiTaH
1) 1
) 2
3) 3
(4) 4

(ST O]

1[Option ID=44073] Question Description : labour_welfar_labour welfar_set 1_english_q44
2[Option ID=44074]
3[Option ID=44075]
4[Option ID=44076]

Sl. No.45
QBID:155045

Which of the following are types of human capital ?

A. Emotional Capital
B. System Capital

C. Spiritual Capital
D. Project Capital

E. Social Capital

Choose the correct answer from the options given below :

1. A and B Only
2. Aand C Only
3.B, Cand D Only
4. A, CandE Only
11
) 2
3) 3
(4) 4




frofafead 9 o1 AFayst & TR § 2

A. VI (HTaTHD) Uoil
B. Tfd goif

C. 3eATfaTd goit

D. GREISHT Usit

E. AT Yol

i fU U fadh el § 9 Yl 3R &1 99+ HIfolU ;

1. $ddA3RB
2. HAA AR C
3. $dd B, C 3R D
4. Hdd A, C 3R E

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=44077] Question Description : labour_welfar_labour welfar_set 1_english_q45
2[Option ID=44078]

3[Option ID=44079]
4[Option ID=44080]

Sl. No.46
QBID:155046

There is specific stages for designing H R Information system. Arrange the stages in ascending order.

A. System Analysis

B. Implementation

C. System Design

D. Project Definition

E. Post Implementation

Choose the correct answer from the options given below :

-

W N
Rl

[OR-"Ble
ssles lwRve!

SRR
>>0po

=

1 1
(2) 2
3) 3
4) 4

T 3R YT YUITe] (UGl 1 [SIg 1 ¢d fafRmy =R g | 4 =Rl &I 3Rig! v H aiedd Bl -

A. JoTTa (e ) fagersor
B. fohurag

C. JuITelt (R H) siifded
D. GRAISHT - 9RHTST

E. [shar=aa4 ugd

i feU U fadh eyl 1 9 Ul 3R &1 994 HifoU ;




1[Option ID=44081] Question Description : labour_welfar_labour welfar_set 1_english_q46
2[Option ID=44082]
3[Option ID=44083]
4[Option ID=44084]

Sl. No.47
QBID:155047

Which of the following is not the cultural dimension according to the pioneering work of Dutch Scientist Geert
Hofstade; around which countries have been clustered, with people in each group exhibiting identical
behaviours?

1. Power distance
2. Universalism
3. Uncertainty avoidance
4. Masculinity
1) 1
() 2
(3) 3
4) 4

9 dyfTi-s FRIE g S o Rl $id fo/d AR MuliRdd 1 9 &1 U 9iRpidd M gl ¢
fores S (¥ IR 1 We=H SR dTd Hedd UHg & Al Wigd 4=1 S b 1Y (= &4 H) 1@l
g ?

g gl

_{FEaar akeR
oY

1) 1

(2) 2

(3) 3

(4) 4

B B

1[Option ID=44085] Question Description : labour_welfar_labour welfar_set 1_english_q47
2[Option ID=44086]
3[Option ID=44087]
4[Option ID=44088]

Sl. No.48
QBID:155048

Which of the statement(s) is / are correct about legitimate power?

A. It is identical with authority and is closely aligned with reward power and coercive power.
B. It comes from cultural values, social structure and being representative of powerful person or group
C. It does not create an obligation to accept and be influenced

Choose the correct answer from the options given below :

. A Only

.Aand C Only
.Band C Only
A and B Only

W I =

e

1 1
(2) 2
3) 3
4) 4



FEfRad & 9 H-91 Y= Taad ARER F IR T Tl ¢ |

A. U UIIPR & GAEY g 3R Uldwhierd fYFR 3R quiss AUPFR & 1Y Mdedd &9 I Ufddss
|

B. Ig URBIdd Hedl, o T 3R TUBR YU Al a1 GHg & Ui I 1ar g |

C. gg Widld 3R Y41 & AU S1de Ua] 8! daig |

i QU TT0 fadel © 9 T8I IR &1 999 HIfT :

1. 5ad A

2. FAAAIMRC
3. HIAB IR C
4. Hdd A SR B

(1) 1
2) 2
3) 3
4) 4

1[Option ID=44089] Question Description : labour_welfar_labour welfar_set 1_english_q48
2[Option ID=44090]
3[Option ID=44091]
4[Option ID=44092]

Sl. No.49
QBID:155049

Group Norms help in :

A. Establishing distinctive identity of group

B. Non-predictable behaviour of group members
C. Avoiding embrassing interpersonal problems
D. Expressing cultural values or goals of group

Choose the correct answer from the options given below :

A and B Only

C and D Only
.A,Band D Only
. A, Cand D Only
1) 1

) 2

(3) 3

(4) 4

g WiaHH fohad YgrIar Hdl ¢ 2

B Wt =

A. GHE DI ST Uga R0 B H

B. UHg & UaHi & 3ifAfYd ouagr

C. 3&T STaH dTal daafads gHwme 9§94
D. Yi¥pide A4l a1 GHg & dedi Dl JHfHogad B3

A QU U fad eyl © 9 Tgl 3R &1 999 HIfT :

1[Option ID=44093] Question Description : labour_welfar_labour welfar_set 1_english_q49
2[Option ID=44094]
3[Option ID=44095]
4[Option ID=44096]




Sl. No.50
QBID:155050

Arrange the following needs of Maslow's Need Hierarchy in right sequence starting from the highest order to the
lowest order need.

A. Social Belongingness
B. Physiological

C. Safety-Security

D. Esteem

E. Self Actualisation

Choose the correct answer from the options given below :

1.B,C.A. D E
2.B,A,C.D,E
3.E, DA E,B
4. E.D.C,A.B
(1) 1
(2) 2
3) 3
4) 4
Al Bt FglaRad digri-e SiaRaedl &l SwaH U <GAaH AT DHdl b H oaiyd / Jaiford Bl
A. gHISS
B. IRIR®
C. HRAYdD YR&T
D. JHIH
E. AHTH d4d
I fGu T fadedl H 9 9gl TR &1 =90 B -
1.B,C.A,D,E
2. B.AC 1D E
3.E.D,AC,B
4 E.D.C,A B
(1) 1
2) 2
3) 3
4) 4
1[Option ID=44097] Question Description : labour_welfar_labour welfar_set 1_english_q50

2[Option ID=44098]
3[Option ID=44099]
4[Option ID=44100]

Sl. No.51
QBID:155051

Which of the following are the objectives of Indian Labour Conferance?

A. To promote uniformity in labour legistation

B. To lay down a procedure for settlement of industrial disputes

C. To determine and fix the minimum wages for the Industrial Workers

D. To discuss all matters of all India importance between employers and employees

Choose the correct answer from the options given below :

1. A, Band C Only
2.B, Cand D Only
3. A.Band D Only
4. A, Cand D Only

(11

(2) 2

(3) 3

(4) 4



YR 41 T & FEfaa § § dH-HH I I8 2

A. 99 T4 faYMEl § thHEudl &I ggrdl o1

B. AeifTeh [qaral & [HueH o1 idhar ag &A1

C. RIS HHBRI & TIT FATH I Fad SR Fefid we

D. [Faiaraii 3R SH=IRAl & & iRad YR Hed & 9l ggi R == &A1

i QU 70 fadeyl © 9 T8I IR DT 999 HIfT ;

1.$pdd A, B, C
2. %ddB.C,D
3.hdd A, B.D
4. PdA A, C.D

1 1
(2) 2
3) 3
4) 4

1[Option ID=44101] Question Description : labour_welfar_labour welfar_set 1_english_q51
2[Option ID=44102]
3[Option ID=44103]
4[Option ID=44104]

Sl. No.52
QBID:155052

Which of the following industrial disputes comes under the jurisdiction of Labour Court under section 10 of the
Industrial Disputes Act, 1947.

A. Propriety or legality of an order passed by employer under the standing order
B. Discharge or dismissal of workmen including reinstatement

C. Leave with wages and holidays

D. Illegality or otherwise of strike or lockout

Choose the correct answer from the options given below :

1. A, B, C Only
2.A,B.D Only
3.B, C.D Only
4.A,C,D Only
(1) 1
2) 2
3) 3
(4) 4

fgfatad § 9 -1 <ienfie f9are ienfie faare sifafam, 1947 $t &R 10 & SFaFid 99 <aaTad i
HIBINAT H dgd 3T & 2

A R TR & SfcRid el gRTUIRG fohg 72 fodt 3re= o1 w1 Siyar ded
B. GAFIISH Tigd it &I Yarerl 3r4ar [Fhra

C. AvIgdl Ud 3radhmRil Afgd gl

D. BSATd 3{YdT dTellsid] Bl SdUTHehdr 3dT 3=yl

i faT 71T fash eyl | 4 gl IR D1 98 Hifore :

1.$dd A, B, C
2. %dd A. B, D
3.%dd B, C,D
4. HdA A, C,D

1) 1
(2) 2
3) 3
4) 4




1[Option ID=44105] Question Description : labour_welfar_labour welfar_set 1_english_q52
2[Option ID=44106]
3[Option ID=44107]
4[Option ID=44108]

Sl. No.53
QBID:155053

Which of the following are the three-tier system for the settlement of grievances under the Model Grievance
Procedure?

A. the levels of the immediate supervisor
B. the departmental or factory head

C. the bipartite grievance committee

D. the tripartite grievance committee

Choose the correct answer from the options given below :

1. A,B,D Only
2.A,B. C Only
3. B, C,D Only
4.A,C.D Only

11

) 2

3) 3

(4) 4

Alsd gRaeT Ear) Wihar & of=aid Rl & FueRT gq FafaRad # 9 o1 fad -t word
(& IR RRem) g 2

A. F@eqa gdded & TR
B. faurTiy sruar thadt uem
c. fgueita fRrema gifa
D. Fueiig fRrerad gl

1= feu Tt fadeedl A 9 e Sugad 3R BT 99 BT :

1.%dd A, B,D
2. HAd A, B, C
3.%dd B, C,D
4. Hdd A, C,D

1 1
(2) 2
3) 3
4) 4

1[Option ID=44109] Question Description : labour_welfar_labour welfar_set 1_english_q53
2[Option ID=44110]
3[Option ID=44111]
4[Option ID=44112]

Sl. No.54
QBID:155054

Which three of the following was included as unfair labour practices in the amendment of Industrial Disputes Act

in 19827

A. Refusal by the employer to bargain collectively in good faith with recognised trade unions.

B. Refusal by a recognised union to bargain collectively in good faith with the employer

C. Workers and trade unions of workers indulging in cocreive activities against certification of a bargaining
representative

D. Refusal to honour collective agreement.

Choose the correct answer from the options given below :

1. A.B. C Only
2.B, C.D Only
3.A,B.D Only
4. A, C,D Only



1) 1
(2) 2
(3) 3
(4) 4

Fafiad § @ 9 I oA &1 ay 1982 H fb T 11U i fdarg sifef-e & TR # sHfd 497 (dea)
agR (Ufded) & U § wnfie fear may a7 |

A. HIRIAT YTt HoigR 91 (¢S g 1a) d HEHTd H Gifg U A YHEIIT (Hiel) B gd il gRI

PR

B. [l & 1Y GEHId H g Y 9 GHII DR gd HIFd I 9l gRI$HR

C. Hicarsil & Ay ufdiY & YAvE & (9o sfadlss (Fug) foeareand! # @ gu biide srar Biide!
D HoIgY I |

D. 9¥fg® GHSId DI A (FHF) Y §HR

4 fau U fab el © 9 G981 3R &1 999 HIfo ;

1.Pdd A, B.C
2.%ddB.C,D
3. %dd A, B, D
4. Pdd A, C,D

(1) 1
2) 2
3) 3
4) 4

1[Option ID=44113] Question Description : labour_welfar_labour welfar_set 1_english_q54
2[Option ID=44114]
3[Option ID=44115]
4[Option ID=44116]

Sl. No.55
QBID:155055

Which of the following are related to main aspects of Industrial Relations?

A. Promotion and development of healthy labour-management relations
B. Maintenance of industrial peace and avoidance of industrial strife

C. Maintenance and development political democracy in the country

D. Development of Industrial Democracy

Choose the correct answer from the options given below :

1. A. B Only

2. A, B, C Only
3.A,B.D Only
4.B, C, D Only



Prafafr 7 & i siefiie del & T deqsl (gelh 3 ek 2 2

A. TG Y - Yy Heell P derdl ¢l 3R 3P [dhr™

B. 31Nl Wifd T §91T WaH1 (@A@14) 3R 3 duy &1 gheR
C. X H IoHITIS A Bf 718 TG 3R 3P [dhrd

D. 3N didhda &1 f[adhr

i QU 70 fadeyl © 9 T8I IR DT 999 HIfT ;

1.%dd A, B

2. %Hdd A, B, C
3.hdd A, B.D
4.$dd B.C,D

1 1
(2) 2
3) 3
4) 4

1[Option ID=44117] Question Description : labour_welfar_labour welfar_set 1_english_q55
2[Option ID=44118]
3[Option ID=44119]
4[Option ID=44120]

Sl. No.56
QBID:155056

Which of the following statements are not correct?

A.TLO is a triparite organisation

B. India is the founder member of ILO

C. ILO only passes conventions

D. ILO adopted the Declaration of Fundamental Principles at its 86th session of International Labour
Conference

E. India has ratified four fundamental conventions of ILO till date

Choose the correct answer from the options given below :

1. B and D Only
2. B and C Only
3. C and E Only
4.D and E Only

)1

(2 2

(3) 3

(4) 4

fgfeafed § 9 oH-a Sy 98l 98l 6 2

A. 3T T4 3l U Pruefig §reA € |

B. HIRd, TS Ud 3 & JRTH G ¢ |

C. TS U 31l had G| Pl 9IRd Pl ¢ |

D. 3115 Ud 31 4 Hifere fyidl 1 IqHIvu I 38D S~RIPIT 9H GRITH b 86d I H 3fifigd foba |
E. HRd = 34l T 3113 Ud 3l & IR Hifcid SAMHTHT! b1 SHqHYH fbar g |

i U TTU f[as el | ¥ Yal 3R &l 98- Bl -

1.%dd B3RD
2. %dd B3R C
3. %dd C3RE
4.%dd D 3RE
1) 1
) 2
(3) 3
4) 4




1[Option ID=44121] Question Description : labour_welfar_labour welfar_set 1_english_q56
2[Option ID=44122]
3[Option ID=44123]
4[Option ID=44124]

Sl. No.57
QBID:155057

Under the Building and Other Construcion Workers Act, 1996, creches shall be provided in every place :

A. Where in more than thirty female building workers are ordinarily employed

B. Where in more than fifty female building workers are ordinarily employed

C. For the use of children under the age of six years

D. For the use of children under the age of five years

E. Where in the number of children of women building workers is twenty-five or more

Choose the correct answer from the options given below :

1. Aand C Only
2. B and C Only
3. B and D Only
4. B, C and E Only
11
) 2
3) 3
(4) 4

Ha 3R 3= GIAATT FHBR UTIH, 1996 & S=id A Arcrraf o1 Tt Ydid SH1g Iqasd BT SR

A. ST TR YTHRITT 30 ¥ 3ffie Afget Yo HHHR & ©u & S gt g |
B. OTg1 R SHEITAT 50 ¥ % Afgad Had PR & &9 F Haifd gidi © |
C. U8 6 Y DI MY Y HH & d=di b YA gq oldll © |

D. g 5 a4 DI 3R] Y HH & gl b IUART g Bldll o |

E. gl Yo HHBR Afgarel & =i & e 25 a1 30 J ARH g g |

I [GU U [as el | 9 Yal 3R &1 994 Bl :

1. HIA A 3R C
2. FIAB IR C
3. FIAB3IRD
4. $ddB. C 3R E

1) 1
(2) 2
(3) 3
4) 4

1[Option ID=44125] Question Description : labour_welfar_labour welfar_set 1_english_q57
2[Option ID=44126]
3[Option ID=44127]
4[Option ID=44128]

Sl. No.58
QBID:155058




Which of the following statement is / are not correct relating to the Minimum Wages Act, 19487

A. The appropriate Government shall fix the minimum rates of wages for the employees employed in an
employment specified in Schedule I or Schedule IT

B. Different minimum rates of wages may be fixed for different localities

C. The appropriate Government may review the minimum rates of wages so fixed at such intervals not
exceeding three years

D. The appropriate Government shall appoint committees and sub-committees to advise it in respect of fixation
or revision of minimum rates of wages

E. The minimum wages payable under this act may be paid in kind.

Choose the correct answer from the options given below :

1. C Only
2. B and C Only
3. C and E Only
4. A and C Only
)1
) 2
3) 3
(4) 4

IATH HoTgd AT, 1948 S Hdel H (5 H A BT I/ Y DY A ol g 2

A. GG RBR Y- a1 Y- H MY ISR § FRiifd sHaial g Beigdl & A &
fad st |

B. H-fir @1 & g e gAaH &R Had &t S gebdi g |

C. TR TRER I+ a8 T 3D SaRTal TR HSAGR] DI YAdH &R0 D1 GHIET D bl 6 |

D. YA WRDR HAOIGL Bl FAqH &3 b (T 3Jal Y=Me g ARl & & forg afffaar ok
Sugtafcai Tfed S |

E. 39 HUFH & o 38 YAdH HoIgE &1 HITdH 9% & &0 H [ha1 S i g |

4 fau 70 fab eyl © 9 Tl 3R &1 999 HIfT ;

1.$Hdd C

2. FAAB 3R C
3. FIAC3IRE
4. FITA3MRC

1) 1
2) 2
3) 3
(4) 4

1[Option ID=44129] Question Description : labour_welfar_labour welfar_set 1_english_q58
2[Option ID=44130]
3[Option ID=44131]
4[Option ID=44132]

Sl. No.59
QBID:155059



Which of the following dimensions of work need to be same when performed under similar working condition
for considering them as "same work or work of similar nature" as per the Equal Remuneration Act, 1976.

A, Skill

B. Knowledge

C. Effort

D. Responsibility
E. Difficulty

Choose the correct answer from the options given below :

1. A, Band C Only
2. A, Cand D Only
3.B, Cand D Only
4. A, B, D and E Only
(11
2) 2
(3) 3
4) 4

THA TR T8, 1976 & Siaid THH SR S1dl YA Yebld BT B AMFI S & AT GaH S
aRIRTR H feTe ST aTel i & i Al # 9 1 9 T 9HM g 91iey 2

A. DI

B. 3+

C. yaN

D. 3WRaldd

E. $ieAm
4 fau 70 fam eyl © 9 Tgl 3R &1 999 HIf ;

1. HdAd A, B3R C
2. FFA A, C3RD
3. $9d B, C 3R D
4. Hdd A, B, D 3R E

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=44133] Question Description : labour_welfar_labour welfar_set 1_english_q59
2[Option ID=44134]
3[Option ID=44135]
4[Option ID=44136]

Sl. No.60
QBID:155060

Which of the following is / are not correct with respect to 'Fine' under the Payment of Wages Act, 1936?

A. No fine shall be imposed on any employed person until he has been give an opportunity of showing cause
against the fine

B. The total amount of fine in any one wage period on any employed person shall not exceed five percent
of wages payable to him in that wage period

C. No fine shall be imposed on any employed person who is under the age of eighteen years

D. No fine imposed on any employed person shall be recovered from him by installments

E. No fine shall be recovered from any employed person after the expiry of ninety days from the day on which
it was imposed

Choose the correct answer from the options given below :

.B Only
. C Only
B and C Only
C and E Only
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(2) 2
(3) 3
(4) 4
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Which of the following are NOT welfare and amenities within the precincts of the establishment?

A. Latrines and Urinals
B. Maternity benefits
C. Creches

D. Health

E. Benevolent Fund

Choose the correct answer from the options given below :

1. Aand C Only
2. B and E Only
3. Cand D Only
4. A, Cand D Only
)1
(2 2
3) 3
(4) 4
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Which of the following are NOT the indirect cost of industrial accident?

A. Time lost from work by injured employee
B. Loss in earning power

C. Damage to tools and equipment

D. Paper work

E. Legal issues

Choose the correct answer from the options given below :

1. A and B Only
2. Aand C Only
3. D and E Only
4. B and E Only
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(4) 4
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Which among the following are NOT the unavoidable causes of labour turnover?

A. Resignation and dismissals

B. Dissatisfaction with wage / salary

C. Retirement and death

D. Redundancy

E. Dissatisfaction with working environment

Choose the correct answer from the options given below :

.Aand E Only
.Aand D Only
. Aand C Only
A and B Only
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(4) 4
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Which among the following are NOT the effect of absenteeism on individual employee?

A. Frequent absenteeism leads to loss in earning.
B. Frequent absenteeism hampers career prospects
C. Industries suffer loss

D. Affects organisations efficiency

E. Affects individual's productivity

Choose the correct answer from the options given below :

. A and B Only
. D and E Only
C and D Only
.A,BandE Only
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‘Which among the following are NOT the Economic Cause of Labour migration?

A. Better employment opportunities

B. Higher Wages

C. Attraction of better facilities and infrastructure
D. Marriage

E. Social discriminations

Choose the correct answer from the options given below :

. A and B Only
. A and C Only
.Aand D Only
.D and E Only
1) 1
(2) 2
(3) 3
(4) 4
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(2) 2

(3) 3

4) 4
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Given below are two statements :

Statement I : Efficiency is the achievement of objectives.

Statement II : Effectiveness is the achievement of the ends with the least amount of resources.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II is correct
2. Both Statement I and Statement II is incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement II is correct
11
(2) 2
(3) 3
4 4
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Given below are two statements :

Statement I : Job rotation is a kind of lateral transfer which allows employees to work at different jobs and it
provides good exposure to a variety of tasks.

Statement II : Simulation exercises are learning tasks on the same equipment that one actually will use on the job
but in a simulated work environment.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II is correct
2. Both Statement I and Statement II is incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
1) 1
) 2
(3) 3
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What is the name of the concept in which organization have local employers abroad who do jobs that the firms
domestic employees previously did in house?

. Onshoring

. Offshoring

. Inshoring

. Outshoring

1 1

() 2

3) 3

(4) 4
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Given below are two statements ;

Statement I : "Social Loafing" is a dysfunction due to pressure to conform and reach consensus in highly
cohesive groups and teams.

Statement II : "Groupthink" occurs when members reduce their effort and performance levels while acting in a
group.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II is true
2. Both Statement I and Statement II is false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true
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() 2

(3) 3

4) 4
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Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : Unions, Commonly known as protest organisation, never takeup any developmental activities.
"Unions are at crossroads. They are on divergent path. One wonders they would like to map the new path early.
They have to redefine their social responsibilities in relation to unemployed, contract workers. They may like to
explore ways for development of new leadership for new trade unionism appropriate for the global society in the
years ahead".

Reason B : The consolidation of the workers forces attained in the economic struggle will also have to serve as a
Lever in the hands of this class for the struggle against the political power of its exploiters.

In the right of the above statements, choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is not the correct explanation of A
3. Ais correct but R is not correct

4. A is not correct but R is correct



1) 1
(2) 2
(3) 3
(4) 4
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Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A :The scheme of Joint Management Council was evolved on voluntary basis to promote Industrial
Peace and harmony between labour and management, to ensure closer association between them, and to increase
production and share the responsibility of management.

Reason B : The Industrial Policy Resolution 1956 stated, "In a socialist democracy labour is a partner in common
task of development and should participate in it with enthusiasm".

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is not the correct explanation of A
3. Ais true but R is false
4. A is false but R is true
(11
() 2
(3) 3
(4) 4
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Given below are two statements :

Statement I : The provisions relating the hazardous processes under the Factories Act, 1948, is given in the
Chapter IV of this Act.

Statement II : The state government may appoint a site appraisal committee for the purposes of advising it to
consider the applications for grant of permission for the initial location of a factory involving a hazardous
process.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II is correct
2. Both Statement I and Statement II is incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
1) 1
() 2
(3) 3
4) 4
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Given below are two statements :

Statement I : Where the employment of any person is terminated, the wages earned by him shall be paid before
the expiry of the seventh day from the day on which his employment is terminated.

Statement IT : When the application made to claim arising out of deductions from wages was found either
malicious or vaxatious, the authority to may direct penalty not exceeding three hundred seventy five rupees be
paid to employer by the person presenting the application.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II is true
2. Both Statement I and Statement II is false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

(1 1

(2) 2

3) 3

4) 4
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Given below are two statements ;

Statement I : The term welfare suggests many ideas, meaning and conotations such as the state of well-being,
health, happiness, prosperity and the development of human resources.

Statement II : Welfare is called a relative concept, for it is related to time and space.
In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II is true
2. Both Statement I and Statement I is false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

1) 1

) 2

(3) 3

4) 4
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3) 3
(4) 4
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Given below are two statements ;

Statement I : Neoclassical economics begins from a model of purposive behaviour by individuals. Individuals are
assumed to have their own unique tastes, preferences, wants and desires which they attempt to satisfy.

Statement II : Neoclassical economics examines the choices that individuals make in their roles as consumers or
as producers.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II is true
2. Both Statement I and Statement II is false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

1) 1
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(3) 3

4) 4
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Arrange the following on the basis of top-down approach of hierarchy of objectives :

A. Mission

B. Departmental Objectives
C. Individual Objectives

D. Purpose

E. Organisational Objectives

Choose the correct answer from the options given below :

(4) 4
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Match List I with List IT

LISTI LISTII
(Stages to development of HRM Practices) (Time Period)
A. [Scientific Management Era I. |1980 onwards
B. [Human Relations Era II. {1900-1920's
C. [Behavioural Science Era III. |1930's to 1950's
D. [Human Resource Management Era IV. [1950's to 1960's

Choose the correct answer from the options given below:

1. A-II, B-III, C-1, D-IV
2. A-1I, B-III, C-1IV, D-1
3. A-1, B-IIL, C-II, D-IV
4. A-II1, B-1I, C-IV. D-1

1 1

(2) 2

3) 3

4) 4
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4 A-IIT, B-II, C-1V, D-I
(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=44205] Question Description : labour_welfar_labour welfar_set 1_english_q77
2[Option ID=44206]

3[Option ID=44207]
4[Option ID=44208]

Sl. No.78
QBID:155078

In which of these cultural orientations, the home country's culture is sought to be imposed on subsidiaries.

1. Polycentric
2. Geocentric
3. Ethnocentric
4. Regiocentric

1) 1

(2) 2

(3) 3

4) 4

i [ AR SHAIE H AT G=1 ] Wbl Dl GHINIRRT IR Uidl §H & =9 H #FT Sl §
|

1. idh 9f<®
2. for i
3. T O
4.3 gie®

1) 1
2) 2
3) 3
4) 4

1[Option ID=44209] Question Description : labour_welfar_labour welfar_set 1_english_q78
2[Option ID=44210]
3[Option ID=44211]
4[Option ID=44212]

Sl. No.79
QBID:155079




Match List I with List IT

LISTI LISTII
A.|Goal I. |Deficiency
B. Drive II. |Defence mechanism
C. [Need III. |[Fulfulment of deficiencies
D. [Frustration IV. |Deficiency with direction

Choose the correct answer from the options given below:

1. A-II, B-1, C-III, D-IV
2. A-1, B-III, C-IV, D-1I
3. A-IV, B-II. C-1. D-TII
4. A-III, B-IV. C-1. D-II

1 1

(2) 2

3) 3

(4) 4

Gl 11 i 11 9 A Sifsg

gt 1 gt 11
A [ L [l
B. [URUT 1L [R&T yomeil
C. |omazgear 1. [P &1 gigfd
D. [§31 IV, [[q=rm afed Sl

FraferiRad famedl & O T8t IR &1 99 HIfoTT :

1. A-II, B-1. C-1II. D-1IV
2. A-L, B-1II, C-IV, D-II
3. A-IV, B-11, C-1. D-1II
4. A-IIL, B-IV, C-1, D-II
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=44213] Question Description : labour_welfar_labour welfar_set 1_english_q79
2[Option ID=44214]

3[Option ID=44215]
4[Option ID=44216]

Sl. No.80
QBID:155080

Arrange the Trade Unions / Associations according to their formation from later to earlier :

A. Bhartiya Mazdoor Sangh

B. The Red Trade Union Congress

C. Hind Mazdoor Sabha

D. Centre of Indian Trade Unions

E. National Council of Central Trade Unions

Choose the correct answer from the options given below :

1.A,B,C,D.E
2.B.A CIDE
3. E. B, C. DA
4 E DA CB

1) 1

(2) 2

3) 3

(4) 4




FafeiRad ¢e gt/ CHIRyueHEl @1 34 7134 & IR AdI9dH ¥ RIS & hH H AaRRYd DIforg

c. fgg Avigzaun
D. TeX 3% 3feu ¢8 g
E. I2d I3RS 3 dod ¢S a4

LS R e

i

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=44217] Question Description : labour_welfar_labour welfar_set 1_english_q80
2[Option ID=44218]

3[Option ID=44219]
4[Option ID=44220]

Sl. No.81
QBID:155081

Given below are the various authorities under Industrial Disputes Act, 1947. Arrange them in ascending orders of
their sections.

A. Industrial Tribunal

B. Voluntary Arbitration
C. Court of Inquiry

D. Board of Conciliation
E. National Tribunals

Choose the correct answer from the options given below :

1A, C.BDE
2.D,C. A EB
3.B,D.EA,C
4.C,D. A, B.E

1) 1

2) 2

3) 3

(4) 4

A sfenfires faare siffad, 1947 & 31 Al TR U U g | 3% 393! URISH & 3Riel HH H
m@mﬁm:

A, 3Mefie i
B. W d da-vig

C. i giErag

D. gag dls

E. PG Yfeh0]

4 fau 70 fam eyl © 9 Tgl 3R &1 999 HIf ;

W =
NnEop»

SESRe¥e
MmO W

2 s
Wy my

s

1 1
(2) 2
3) 3
(4) 4



1[Option ID=44221] Question Description : labour_welfar_labour welfar_set 1_english_q81
2[Option ID=44222]
3[Option ID=44223]
4[Option ID=44224]

Sl. No.82
QBID:155082

Arrange the following provisions relating to health under the Factories Act, 1948, in ascending order of the
sections.

A. Artificial humidification

B. Ventilation and temperature
C. Drinking water

D. Lighting

E. Dust and Fume

Choose the correct answer from the options given below :

(4) 4

SR AT, 1948 B f=ld e ¥ Heferd FafaRad Susl e 9 J6fdd e @ oRist
Wﬁ?ﬂﬂf@m?ﬁlﬁz

A P THIBU
B. AIdA 3R d9HH

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=44225] Question Description : labour_welfar_labour welfar_set 1_english_q82
2[Option ID=44226]

3[Option ID=44227]
4[Option ID=44228]

Sl. No.83
QBID:155083

Arrange the following deductions under the Payment of Wages Act, 1936, is ascending order of sections.

A. Deductions for services rendered
B. Deductions for damage or loss

C. Deductions for absence from duty
D. Deductions for recovery of loans
E. Deductions for recover of advances

Choose the correct answer from the options given below :

1.B,C,A,D,E
2.C,B,AE.D
3.B,C.AE.D
4.C.A.B.D.E

1) 1



) 2
3) 3
(4) 4

TeigRl YA AT, 1936 & dld [0 deifaal & uRTsil & RIS HH H sHaRud Hifoe:

A. Ve g4t gq welfad,

B. &fdl 31aT g1 g delfcra
C. SUCT ¥ SRR gd delladi
D. U1 &I 9l g Heliadi

E. S0 &1 aycil g deliddi

i fau U fab eyl § Yel IR &l 999 i ;

e
NN

POmO
>

=
ommo
Mmoo m

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=44229] Question Description : labour_welfar_labour welfar_set 1_english_q83
2[Option ID=44230]

3[Option ID=44231]
4[Option ID=44232]

Sl. No.84
QBID:155084

Match List I with List IT

LISTI LISTII
A Philanthropic Theory of Labour I [abour groups are becoming demanding
" [Welfare " land militant and are more conscious

Means to secure, preserve and develop the
efficiency and productitvity of labour
An atmosphere of goodwill between

B. |Placating Theory of Labour Welfare |IL

Public Relations Theory of Labour

c. ; II1. inanagement and labour and also
'Welfare = :
managment and public
D. Functional or Efficiency Theory of TN T T i

[Labour Welfare

Choose the correct answer from the options given below:

1. A-IV, B-II. C-II, D-1
2. A-IV, B-1, C-III, D-1I
3. A-1V, B-1I, C-III, D-I
4. A-1, B-II, C-1II. D-IV

1) 1

2) 2

3) 3

4) 4



Gl 151 G 1T 9 M iy

1 T I
A (TS B0 P [ [P 9 AR IS 1 1 (Hfice) S
| [P TeRS Rgid I8 T e Iaaia § |
= jﬁ?ﬂﬁ?@ﬂﬁu) o W&ﬁﬂﬁﬂ?aﬁa&iﬂaﬁ?maﬁw
' Rreia " [BRAL TEUT 3R R HAT S |
& YT H eIl Bl i U U Y8 dYUT U&= Ud ST & &
BSGIEC AR AR " [geyId &1 U ardrar |
Y1 HedTul B
D. HehTIED T G&fdl IV. [A9S &1 73 & Uid U

FafeiRad fawedl & O T8t IR &1 99 HIfTT :

1. A-IV, B-IIL. C-II. D-1
2. A-IV, B-1, C-III, D-IT
3. A-IV, B-11, C-1II. D-1
4. A-1, B-1I, C-1I, D-IV

(1) 1
2 2
3) 3
(4) 4

1[Option ID=44233]

2[Option ID=44234]
3[Option ID=44235]
4[Option ID=44236]

Question Description : labour_welfar_labour welfar_set 1_english_q84

Sl. No.85
QBID:155085

Match List I with List IT

LISTI LISTII
W Marginal Productivity I Wages are determined by the bargaining
" [theory " |between employers and workers
_— Labour is paid according to its marginal
B. E;p L{;ﬂatlon theary of II. |productivity under the conditions of perfect
g competition
Demand and supply theory Wages are determined by the interaction of
& * | I, = :
of wages demand and supply of labour
—— Labour is paid only a part of the share that he
D [Buiing teogratuages| I produces and the rest is in the hands of capitalist

Choose the correct answer from the options given below:

1. A-I1, B-1V, C-1II, D-1
2. A-11, B-1, C-1IL, D-1IV
3. A-II, B-III, C-IV, D-1
4. A-II, B-I. C-1V, D-TII

1) 1
(2) 2
(3) 3
(4) 4




il 11 gt 11 9 e Bifse

gt 1 gt 11

, . Hoigdl Tl g Biften! & Aed iadToil gRT
A. [T IdTedT Rsid )§ e g 2 |

s Ry sifFe b1 Ut Uiy eliep] fRufaal & aavid gaa!
B. [T et 1o & i SUAINTAT & YR YA a1 Siidl ¢ |
o [FoTeR geidt /i 31 [ [T 41 Bl AT SR Sfet @t st fopan
' lemafd Ry " [GRTIRG SIS § |

S/T71p1 bl 3D GRI Ual [hU Y IdIE & g8y
D. [AoTgd AieaTS [fgid | IV. [ dhdel Teb HRT Bl YT b1 STl § SR 2y
Uoilgfd & g ¥gdl g |

fraferad fasedl ® 9 Het IR &1 =g Hifee :

1. A-II, B-IV, C-III. D-I
2. A-11, B-1, C-II1, D-IV
3. A-IIL, B-III, C-IV, D-1
4. A-I1, B-1. C-1V, D-II1

1 1

(2) 2

3) 3

(4) 4

1[Option ID=44237] Question Description : labour_welfar_labour welfar_set 1_english_q85
2[Option ID=44238]
3[Option ID=44239]
4[Option ID=44240]

Sl. No.86
QBID:155086

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : "Dark Triad" is the constellation of negative personality traits consisting of Machiavellianism,
Narcissism and Psychopatchy.

Reason B : An individual in 'narcissism' is pragmatic, maintains emotional distance and believes that ends can
justify means.

In the right of the above statements, choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is not the correct explanation of A
3. Ais correct but R is not correct
4. A is not correct but R is correct
1) 1
(2) 2
3) 3
(@) 4




1 &I Y fAU U §: U DU (Assertion A) B U H [eIRad ¢ dl GURI 3Hb HRUI (Reason R) & &Y
H:

HHUT A : ST fears Afdardeiiare TR (TeRf) 3R HHIPHd & ThRIHAD HAfddd ughi o1
e |

RO R - AR (@RI H U oifekd ordeliRe gidl 6, Ydaldd g3l &Y 1@dl § 3R g [y Hdl
¢ [d e, W1e &1 IEETd ST o |

SWRIGT HYU & 3dlh |, A faU 1 f[qdhedl § ¥ a8 Iugdd IR &1 90 iU
1. A SRR G 9T & SRR, A I S AT |
. A 3R R A 98I 8, Wb R, A DI UEI ARSI © |

. AYEI g AR TSI el & |
4. AT Tel g Al R Tsl g |

1) 1
(2) 2
(3) 3
4) 4

]

4

1[Option ID=44241] Question Description : labour_welfar_labour welfar_set 1_english_q86
2[Option ID=44242]
3[Option ID=44243]
4[Option ID=44244]

Sl. No.87
QBID:155087

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : Ingratiation involves agreeing with the recruiters opinions by the candidate and thus signaling that
they share similar beliefs.

Reason B : A perceived similarity in attitudes and / or values does not influence how the interviewer dates the
applicants competence.

In the right of the above statements, choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is not the correct explanation of A
3. Ais correct but R is not correct
4. A is not correct but R is correct
1) 1
2) 2
3) 3
(4) 4

1 & YA [T Y 8: Uh AMHBH U (Assertion A) B U H [eIRad ¢ ol GURI 3Hdb HRUI (Reason R) & &Y
H:

HIYHY A : 3T UIYd | il &1 vl a1l & Wl o 91y ggaid i gidl ¢ 3R Sy ag
b [T g b d FAM a4 & RiegR § |

HRUTR : G SR/ a1 Geui § SFyd SHHd1 39 91d 9 WHIidd 981 gldl [d f6d YR AIeTabRabdl
Al Bt A BT HiDdA BRI G |

SWRIGd DU P HTdid |, A9 3T f[dhedl # I g6 Iugad IR DI I4 HIfoY

1.A3RRGHI TglI g 3R R, A DI Ugl AR § |

2. ARREHI Yol &, AP R, ADI TgI ABATRI © |
3. ATGIg AfbTR TEI A6l © |

4 ATEI T8I e dlPTR TSI & |




1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=44245] Question Description : labour_welfar_labour welfar_set 1_english_q87

2[Option ID=44246]
3[Option ID=44247]
4[Option ID=44248]

Sl. No.88
QBID:155088

Match List I with List IT ; Given below the Name of Authors and their authored books.

LISTI LISTII
(Authors) (Authored Books)
A. [Selig Perlman I. [Trade Unionism in the Unites States
B. [Robert F. Hoxie II. |A Theory of the Labour Movement
6. [P e I The Mediating R(_)le of the Trade Union in under
developed countries
D. |Ashok Mehta IV. |A Philosophy of Labour

Choose the correct answer from the options given below:

1. A-1, B-II, C-III. D-IV
2. A-1I, B-1, C-1V, D-TII
3. A-IL, B-1V, C-1I1, D-I
4. A-IIL, B-1I, C-1. D-IV
1 1
(2) 2
3) 3
4) 4

I 11 Gl 11 9§ AdH DI i gXde Ud 3d ddd & A SN § | 35 GHlerd Bifor -

T 1 @E®) = 11 (TED)
T gl I [¢s g g1 gges &l

A.
1. ke o g . [oi{l 3t g der gai<

e amn e ST I 3t 25 a4 3
C. [heh Co & M hieveaas CRy
D. o frad IV. [O fhamt o dar

fafeiRad famedl & O T8t IR &1 99 HIfvTe :

1. A-L, B-II., C-IIT. D-1IV
2. A-II, B-1, C-IV, D-III
3. A-I1, B-1V, C-1I1, D-1
4. A-III, B-11, C-1. D-IV
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=44249] Question Description : labour_welfar_labour welfar_set 1_english_q88

2[Option ID=44250]
3[Option ID=44251]
4[Option ID=44252]

Sl. No.89
QBID:155089




Match List I with List IT

LISTI

(Axficle uf Indian (\fleaninu.?frtlf: Article)
Constitution) i g
A |aiticle:39 L RJghF to work, to education and to public assistance in
certain cases
B. Asticlea1 L [Endeavour to secure a living wage. conditions of work

ensuring a decent standard of life

C. |Article-42 II1. [Equal pay for equal work for both men and women
Provision for securing just and human condition of
work and for maternity relief

D. |Article-43 Iv.

Choose the correct answer from the options given below:

.A-IV, B-II1, C-I, D-II
.A-IIL B-1V, C-1. D-1I
CA-IIL B-1L C-IV, D-TI
. A-IL B-1IV, C-II1, D-1
1) 1
2 2
3) 3
(4) 4

Gl 161 i 11 9 A Hifsg

S R O

%Inﬁl('*ﬂ?‘cﬂﬂﬂﬁ‘&ﬁ% @.Il(wmm

R 5 3 %rtfﬂmaﬁ?@mmﬁﬁmﬂmuﬁ
Siia fHale a1 #sig Bl GHfEd o2, drd

B. [310G - 41 IL (X Pl SN, HUifed SiaT&R (AT B
1 )

C. [3H=a - 42 1. [Afgdl Ud g, T & foe JqHe®r ad

' I T B 3R B B Bl A
D. (Mg -43 V" e, mrc <1 R 3T (UraeH)

FrafeiRad fasmedl & O T8t IR &1 99 HIfoTe ;

1. A-IV, B-IIL, C-I, D-II
2. A-III, B-1V, C-I. D-II
3. A-III, B-1, C-IV D-II
4. A-I1, B-TIV., C-II1, D-1
(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=44253] Question Description : labour_welfar_labour welfar_set 1_english_q89
2[Option ID=44254]

3[Option ID=44255]
4[Option ID=44256]

Sl. No.90
QBID:155090



Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A : The constitution of India in the Directive Principles stresses upon the importance of labour welfare.

Reason B : Voluntary welfare measures come under welfare work voluntarity carried out by employers and
worker's organizations.

In the right of the above statements, choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is not the correct explanation of A
3. A is correct but R is not correct
4. A is not correct but R is correct
)1
2) 2
(3) 3
(4) 4

A &l By [T T B: U SMHB U (Assertion A) B U H [eiRad € Al GR1 3Hb HRUI (Reason R) & &Y
H:

HHYT A - HRd BT Tfge™ & Hifq s Reid # e s R ad fearmar g |

FRUI R : Wwdh BVl & IU™ HedIv] B & 3fid 3M1d g, St Wiesd U Y e 3R 4ifid e
aRI fharSrar g |

SIS HY & 3Tclld H, - [T T [dhedl # ¥ o Jugdd IR &1 94 Pifog
1. A SRR GHI 98I ¢ SRR, A DI UG ARATG |
2. A 3R R &I Gl g, Al R, A D Uel ARAT e © |

3. A¥el g Gid-1R Tol ol o |
4 ATEITEIEAlPTR TSI & |

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=44257] Question Description : labour_welfar_labour welfar_set 1_english_q90
2[Option ID=44258]
3[Option ID=44259]
4[Option ID=44260]

Sl. No.91
QBID:155091



Answer Question on the basis of following passage :

During the early period of industrial development, efforts towards workers' welfare were made largely by social workers, philanthro)
religious leaders, mostly on humanitarian grounds. Before the introduction of welfare and other legislation in India, the conditions ot
miserable. Exploitation of child labour, long hours of work, bad sanitation, absence of safety measures etc., were the regular features
life. The earliest legislative approach could be tracked back to the passing of the Apprentices Act of 1850. This act was enacted with
helping poor and orphaned children to learn various trades and crafts. The next act was the Fatal Accidents Act of 1853 which aimed
compensation to the families of workmen who lost their life as a result of "actionable wrong". Earlier attempts at legislation in this ¢
mainly aimed at regulation of employment.

The movement to improve the working conditions of Indian labour started with the passing of the first Indian Factories Act in 1881.
conditions in which labour worked in the textile mills in Bombay during those days, as testified by the factory commission of 1875 v
immediate cause for the passing of the Act. Adult labour, however, was not protected in any manner. It was found inadequate in mar
how, it recognized the right of the government to safeguard the interests of the workers by means of a suitable legislation. Therefore,
Commission was appointed by the Government of Bombay in 1884 to review the working of the Factories Act of 1881.

The Factories (Amendment) Act 1891 applied to all factories employing 50 persons or more. Provisions relating to better ventilation
for preventing overcrowding in factories were also made. The hours of work for children were reduced to six per day. Employment ¢
between 7.00 pm and 5.00 am was prohibited. Women were allowed to work for eleven hours in a day with one and a half hour rest.
provisions were also made for the health and safety of the Industrial workers.

The outbreak of First World War in 1914 led a number of new developments. During the war years (1914 to 1918) the number of fac
number of persons employed there increased. Wages did not keep pace with the rising prices and profits. The establishment of the In
Labour Organization (ILO) in 1919 was another important land mark in the history of Labour Welfare Movement in our Country. Th
AITUC (1920), the first central trade union organization in our country, also helped in furthering the cause of welfare movement.

Another milestone in the field of labour welfare was reached with the appointment of Labour Investigation Committee (Rege Comm
The committee was asked to investigate problems relating to wages and earnings, employment, housing and social conditions of wor
different areas in labour welfare such as housing policy, rest and recreation, occupational diseases, relief in the case of old age and ds
canteens, medical aid, washing and bathing facilities, educational facilities etc. For the first time in India, this committee highlighted
of welfare measures for workers in improving their social and economic life.

SIS [dHrY & RIS DI b GRMF D IT: AFG YR IR GHISS DD, RIYBRATCH! 3R =7 GO 4¥ 1]
DA b G- T YA fh U 7Y | YR § Hed1vl Ud 314 [q4ghi & ] 814 U Ugd YD <21 9gd Houe &t | S1dyd &l
¥ I, TR YIh-YhTs, Y& & I 61 3UTd 3¢ SREMEI Siigd &I AT [Avdrg 47 | 39 ddy J gdad gyl
o UiRrefdn e, 1850 1 W1 ST Yol § | fafie SATIRT SR gxas i=rd! o o7 TRId a1 1Y S &1 Yg/dl & 3539 °
AN bl 711 T | 34 d1G, ST S HTdd gHedT fafam, 1853 U1 ST 353 ~H STy el & HRU BT
R 3 URART BT &fgfti UM HA1 4T |

Y RGHET AT, 1881 & IR B & dIe URTT YTDT D1 S D1 M3 T YR &1 AT<Iei URY g3 | IS 4
ol o forg -1 R | ST IR & axd o, T 1875 & BRI AR A W WISRT, 98 39 MUHgH & 9ikd [6u o g
BRG] | JUD Y] I fhd! Ht YR &1 &l ured gt 2t | gg fafis arael o suaf 2t | greiif 39 WRaR & Siid!
SUYH T & Arend Y SR & DRI Bl GIUET TG DI DI B SY | YT 1884 T G Bl WBR & gR1Y
R 1881 & DRI HTTH DT G & feg 78 &1 74T |

DHREMT (H=MeH) AT, 1891 39 TH SRAF! TR AN BT T 561 50 T 3G 3Med 4id HRRA Bl | 9gaR Harad (df
B U4 SfaHis WIS & Yatl § UIaeT 3f1fe BT THIGRI a1 11 | 91 41! & BRI & °el &l dH DR 6 Hel MR fha
& 1 7.00 99 Y GaIE 5.00 &9l I @i T BHIH HIH UR A A1 71 | AGS13H Dl null B¢ & fa9MT 3fcRid Tigd 11.00 €
To L | IS YT & fofu e ud YR & ol @ WayH fhu g |

1914 H 7Y [d44S & [§54 & SR B3 1 [9HM TU | G5 & YHIBIA (1914 Y 1918) H SRAM] D1 AT 3R FGH B
# fftgfs g3 | gl HIHAI Ud HAh Y Holgd] BT WA 81 36 U | 1919 H SdRRAPIY 4H TG (ILO) BT RIS H ¢
mﬁégaﬁgmaﬁ%aqﬁﬂ%maﬁﬁmﬁ (1920), ST & BT Ugel <10 47 TT TR 8, 1 RITHT Hi 47 e
derdl g R & |

1944 T TR ST Tiftfa (91 9iAf) &1 Fgfad 91 Sem o1 fa=n 1 U Tgayul T 8 | 9ifd o 7eigdl, Td e,
Ud Yif! &l GrHEToId (T &1 Sitd BT Gl (61 747 | 39 %H Hediv] & (a3 & &l i 601 94T S1ar &1 gieHT of
AT STARAT, gerur ud 3 @1 Rfd H 184, UIa-R, &, i eiia Sgrdl, 981 3R Ui @1 glawr, 2efod gfdy
T UgcliaR 29 GiHfd 3 SIRI & Qe Ud 31 sitaq H R &1 Jgdl & G2l |




What was the number of working hours for children in Indian factories prior to the implementation of the
Factories (Amendment) Act, 18917

1. 10 hours

2. 8 hours

3. The passage does not reveal this fact
4. 6 hours

(11

2) 2

3) 3

(@) 4

YRA § SREHT (G2M1eH) AUHTH, 1891 & dF] U S Y Ugd HIHGSI d=dl & (U S & e -1 41 2

1. 08¢

2.86¢

3. YA SYBI Icid Al ¢ |
4. 64¢

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=44261] Question Description : labour_welfar_labour welfar_set 1_english_q91
2[Option ID=44262]
3[Option ID=44263]
4[Option ID=44264]

Sl. No.92
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Answer Question on the basis of following passage :

During the early period of industrial development, efforts towards workers' welfare were made largely by social workers, philanthro)
religious leaders, mostly on humanitarian grounds. Before the introduction of welfare and other legislation in India, the conditions ot
miserable. Exploitation of child labour, long hours of work, bad sanitation, absence of safety measures etc., were the regular features
life. The earliest legislative approach could be tracked back to the passing of the Apprentices Act of 1850. This act was enacted with
helping poor and orphaned children to learn various trades and crafts. The next act was the Fatal Accidents Act of 1853 which aimed
compensation to the families of workmen who lost their life as a result of "actionable wrong". Earlier attempts at legislation in this ¢
mainly aimed at regulation of employment.

The movement to improve the working conditions of Indian labour started with the passing of the first Indian Factories Act in 1881.
conditions in which labour worked in the textile mills in Bombay during those days, as testified by the factory commission of 1875 v
immediate cause for the passing of the Act. Adult labour, however, was not protected in any manner. It was found inadequate in mar
how, it recognized the right of the government to safeguard the interests of the workers by means of a suitable legislation. Therefore,
Commission was appointed by the Government of Bombay in 1884 to review the working of the Factories Act of 1881.

The Factories (Amendment) Act 1891 applied to all factories employing 50 persons or more. Provisions relating to better ventilation
for preventing overcrowding in factories were also made. The hours of work for children were reduced to six per day. Employment ¢
between 7.00 pm and 5.00 am was prohibited. Women were allowed to work for eleven hours in a day with one and a half hour rest.
provisions were also made for the health and safety of the Industrial workers.

The outbreak of First World War in 1914 led a number of new developments. During the war years (1914 to 1918) the number of fac
number of persons employed there increased. Wages did not keep pace with the rising prices and profits. The establishment of the In
Labour Organization (ILO) in 1919 was another important land mark in the history of Labour Welfare Movement in our Country. Th
AITUC (1920), the first central trade union organization in our country, also helped in furthering the cause of welfare movement.

Another milestone in the field of labour welfare was reached with the appointment of Labour Investigation Committee (Rege Comm
The committee was asked to investigate problems relating to wages and earnings, employment, housing and social conditions of wor
different areas in labour welfare such as housing policy, rest and recreation, occupational diseases, relief in the case of old age and ds
canteens, medical aid, washing and bathing facilities, educational facilities etc. For the first time in India, this committee highlighted
of welfare measures for workers in improving their social and economic life.

SIS [dHrY & RIS DI b GRMF D IT: AFG YR IR GHISS DD, RIYBRATCH! 3R =7 GO 4¥ 1]
DA b G- T YA fh U 7Y | YR § Hed1vl Ud 314 [q4ghi & ] 814 U Ugd YD <21 9gd Houe &t | S1dyd &l
¥ I, TR YIh-YhTs, Y& & I 61 3UTd 3¢ SREMEI Siigd &I AT [Avdrg 47 | 39 ddy J gdad gyl
o UiRrefdn e, 1850 1 W1 ST Yol § | fafie SATIRT SR gxas i=rd! o o7 TRId a1 1Y S &1 Yg/dl & 3539 °
AN bl 711 T | 34 d1G, ST S HTdd gHedT fafam, 1853 U1 ST 353 ~H STy el & HRU BT
R 3 URART BT &fgfti UM HA1 4T |

Y RGHET AT, 1881 & IR B & dIe URTT YTDT D1 S D1 M3 T YR &1 AT<Iei URY g3 | IS 4
ol o forg -1 R | ST IR & axd o, T 1875 & BRI AR A W WISRT, 98 39 MUHgH & 9ikd [6u o g
BRG] | JUD Y] I fhd! Ht YR &1 &l ured gt 2t | gg fafis arael o suaf 2t | greiif 39 WRaR & Siid!
SUYH T & Arend Y SR & DRI Bl GIUET TG DI DI B SY | YT 1884 T G Bl WBR & gR1Y
R 1881 & DRI HTTH DT G & feg 78 &1 74T |

DHREMT (H=MeH) AT, 1891 39 TH SRAF! TR AN BT T 561 50 T 3G 3Med 4id HRRA Bl | 9gaR Harad (df
B U4 SfaHis WIS & Yatl § UIaeT 3f1fe BT THIGRI a1 11 | 91 41! & BRI & °el &l dH DR 6 Hel MR fha
& 1 7.00 99 Y GaIE 5.00 &9l I @i T BHIH HIH UR A A1 71 | AGS13H Dl null B¢ & fa9MT 3fcRid Tigd 11.00 €
To L | IS YT & fofu e ud YR & ol @ WayH fhu g |

1914 H 7Y [d44S & [§54 & SR B3 1 [9HM TU | G5 & YHIBIA (1914 Y 1918) H SRAM] D1 AT 3R FGH B
# fftgfs g3 | gl HIHAI Ud HAh Y Holgd] BT WA 81 36 U | 1919 H SdRRAPIY 4H TG (ILO) BT RIS H ¢
mﬁégaﬁgmaﬁ%aqﬁﬂ%maﬁﬁmﬁ (1920), ST & BT Ugel <10 47 TT TR 8, 1 RITHT Hi 47 e
derdl g R & |

1944 T TR ST Tiftfa (91 9iAf) &1 Fgfad 91 Sem o1 fa=n 1 U Tgayul T 8 | 9ifd o 7eigdl, Td e,
Ud Yif! &l GrHEToId (T &1 Sitd BT Gl (61 747 | 39 %H Hediv] & (a3 & &l i 601 94T S1ar &1 gieHT of
AT STARAT, gerur ud 3 @1 Rfd H 184, UIa-R, &, i eiia Sgrdl, 981 3R Ui @1 glawr, 2efod gfdy
T UgcliaR 29 GiHfd 3 SIRI & Qe Ud 31 sitaq H R &1 Jgdl & G2l |

Which one of the following provisions was not included in the Factories (Amendment) Act 1891?

1. Ventilation
2. Cleanliness
3. Overcrowding
4. Transportation



1) 1
(2) 2
(3) 3
(4) 4

FHARId § O DF - 91 Uy SRAMET (HLYA) AT, 1891 H WA T 41 2

1. gard-

2. 9% - Bl5
3. 3fned His
.uRkagd

(1) 1
(2) 2
3) 3
(4) 4

I

1[Option ID=44265] Question Description : labour_welfar_labour welfar_set 1_english_q92
2[Option ID=44266]
3[Option ID=44267]
4[Option ID=44268]

Sl. No.93
QBID:155093



Answer Question on the basis of following passage :

During the early period of industrial development, efforts towards workers' welfare were made largely by social workers, philanthro)
religious leaders, mostly on humanitarian grounds. Before the introduction of welfare and other legislation in India, the conditions ot
miserable. Exploitation of child labour, long hours of work, bad sanitation, absence of safety measures etc., were the regular features
life. The earliest legislative approach could be tracked back to the passing of the Apprentices Act of 1850. This act was enacted with
helping poor and orphaned children to learn various trades and crafts. The next act was the Fatal Accidents Act of 1853 which aimed
compensation to the families of workmen who lost their life as a result of "actionable wrong". Earlier attempts at legislation in this ¢
mainly aimed at regulation of employment.

The movement to improve the working conditions of Indian labour started with the passing of the first Indian Factories Act in 1881.
conditions in which labour worked in the textile mills in Bombay during those days, as testified by the factory commission of 1875 v
immediate cause for the passing of the Act. Adult labour, however, was not protected in any manner. It was found inadequate in mar
how, it recognized the right of the government to safeguard the interests of the workers by means of a suitable legislation. Therefore,
Commission was appointed by the Government of Bombay in 1884 to review the working of the Factories Act of 1881.

The Factories (Amendment) Act 1891 applied to all factories employing 50 persons or more. Provisions relating to better ventilation
for preventing overcrowding in factories were also made. The hours of work for children were reduced to six per day. Employment ¢
between 7.00 pm and 5.00 am was prohibited. Women were allowed to work for eleven hours in a day with one and a half hour rest.
provisions were also made for the health and safety of the Industrial workers.

The outbreak of First World War in 1914 led a number of new developments. During the war years (1914 to 1918) the number of fac
number of persons employed there increased. Wages did not keep pace with the rising prices and profits. The establishment of the In
Labour Organization (ILO) in 1919 was another important land mark in the history of Labour Welfare Movement in our Country. Th
AITUC (1920), the first central trade union organization in our country, also helped in furthering the cause of welfare movement.

Another milestone in the field of labour welfare was reached with the appointment of Labour Investigation Committee (Rege Comm
The committee was asked to investigate problems relating to wages and earnings, employment, housing and social conditions of wor
different areas in labour welfare such as housing policy, rest and recreation, occupational diseases, relief in the case of old age and ds
canteens, medical aid, washing and bathing facilities, educational facilities etc. For the first time in India, this committee highlighted
of welfare measures for workers in improving their social and economic life.

SIS [dHMY & RIS DI b GRMF YD IT: AFDYG YR R GHISS DD, RIYBRATCH! 3R =7 GO 4¥ 1]
DT B (G20 T YA fhU T | URA ¥ Hedivl Ud 314 [q8ad! & di] g1 4 Ugd YiHd! $I 1 9gd HPug Al | iasd ol
¥ I, TR YIh-YhTs, Y& & I &I 3UTd 3¢ SREMEI Siigd &I (AT f[a=vdrg 47 | 39 &y J gdad gyl
o UiRrefdn e, 1850 1 W1 ST Yol § | fafie SATIRT SR gxas i=rd! o o7 TRId a1 1Y S &1 Yg/dl & 3539 °
AR el 11 T | S8 d1G, ST ST gidd gHeAr fUfm, 1853 U1 ST 353 ~®H1 SISy el & HRU B
TR 39> URGRT b1 &ffcgftd UeH SHA1 4T |

YA RG] AT, 1881 & IR B & 9l URATT YTDT &1 H1d &1 M3 T GUR &1 AT<Iel URY g3l | 3G S0 1
ol o forg -1 R | ST IR & axd o, T 1875 & BRI AR A W WISRT, 98 39 MUHgH & 9ikd [6u o g
BRG] | TUD HiHD! I [hd! i YR &1 Graf ured gt 2t | g8 fafis #rge! & suaf ot | greiifd 39 WRaR & SiiUd]
SUYH T & Arend Y SR & HUDRT b1 GIUET TG DI DI B SY | AT 1884 T §63 Bl WHR & gR1Y
R 1881 P DRAMT HAFTH DT THigT & 1org T8d D1 7T |

DHREMT (H=MeH) AT, 1891 39 TH SRAF! TR AN BT T 561 50 T 3G 3Med 4id HRRA Bl | 9gaR Harad (df
HBIE U4 SHaHis WIS & Ydt § UIaeT 3f1fe BT TR a1 141 | 91 418! & BRI & °el ol dH B 6 Hel iR o
& 1 7.00 99 Y GG 5.00 &l I @iy T BHIH HI UR A A1 71 | AIGSI3H Dl null B¢ & fa9MT 3fcRid Tigd 11.00 €
To L | IS YT & fofu e ud YR & ol @ WayH fhu g |

1914 H 7Y [d44S & [§54 & SR B3 1 [9HM TU | G5 & YHIBIA (1914 Y 1918) H SRAM] D1 AT 3R FGH B
# ffHafs g3 | gl P1HAI Ud HA% Y Holgd] BT WA 81 38 U | 1919 H SqRRAPIY 4H TG (ILO) BT RITTT G H ¢
an@a%éggﬁﬁmaﬁnaaqﬁﬂ%maﬁﬁqm (1920), STl &1 Bl Tgeh <1 47 TH GRIT ¢, B VAT 457 Hearoy
derdl g R & |

1944 T TR ST Tiftfa (91 9iAf) &1 Fgfad 91 Sem o1 fa=n 1 U Tgayul T 8 | 9ifd o 7eigdl, Td e,
Ud Yife! & GETId (R &1 il BT a1 (631 747 | 39 %H Hediv] & (a3 &1 &l 8 1631 94T S1aRT &1 gieT of
AT STARAT, gerur ud 9 @1 fRfd H 184, UIa-R, &, i eiia Sgrdl, 981 3R Ui @1 glawr, 2o gfdy
T UgcliaR 29 GiHfd 3 IR & Qe Ud 31 sitaq R &1 dgdl & G2l |

Who among the following led the Labour Investigation Committee?

1. Mulock

2.1LO

3. Rege

4. Bombay Presidency Officer



(1) 1
(2) 2
(3) 3
(4) 4

frfefad | fe 9w rayor Sfffd o1 g faar 412

1. Hellh
2. 3fTs T 3]
kol

4. 97 Uit SffUeR|
(1) 1
(2) 2
(3) 3
(4) 4
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Answer Question on the basis of following passage :

During the early period of industrial development, efforts towards workers' welfare were made largely by social workers, philanthro)
religious leaders, mostly on humanitarian grounds. Before the introduction of welfare and other legislation in India, the conditions ot
miserable. Exploitation of child labour, long hours of work, bad sanitation, absence of safety measures etc., were the regular features
life. The earliest legislative approach could be tracked back to the passing of the Apprentices Act of 1850. This act was enacted with
helping poor and orphaned children to learn various trades and crafts. The next act was the Fatal Accidents Act of 1853 which aimed
compensation to the families of workmen who lost their life as a result of "actionable wrong". Earlier attempts at legislation in this ¢
mainly aimed at regulation of employment.

The movement to improve the working conditions of Indian labour started with the passing of the first Indian Factories Act in 1881.
conditions in which labour worked in the textile mills in Bombay during those days, as testified by the factory commission of 1875 v
immediate cause for the passing of the Act. Adult labour, however, was not protected in any manner. It was found inadequate in mar
how, it recognized the right of the government to safeguard the interests of the workers by means of a suitable legislation. Therefore,
Commission was appointed by the Government of Bombay in 1884 to review the working of the Factories Act of 1881.

The Factories (Amendment) Act 1891 applied to all factories employing 50 persons or more. Provisions relating to better ventilation
for preventing overcrowding in factories were also made. The hours of work for children were reduced to six per day. Employment ¢
between 7.00 pm and 5.00 am was prohibited. Women were allowed to work for eleven hours in a day with one and a half hour rest.
provisions were also made for the health and safety of the Industrial workers.

The outbreak of First World War in 1914 led a number of new developments. During the war years (1914 to 1918) the number of fac
number of persons employed there increased. Wages did not keep pace with the rising prices and profits. The establishment of the In
Labour Organization (ILO) in 1919 was another important land mark in the history of Labour Welfare Movement in our Country. Th
AITUC (1920), the first central trade union organization in our country, also helped in furthering the cause of welfare movement.

Another milestone in the field of labour welfare was reached with the appointment of Labour Investigation Committee (Rege Comm
The committee was asked to investigate problems relating to wages and earnings, employment, housing and social conditions of wor
different areas in labour welfare such as housing policy, rest and recreation, occupational diseases, relief in the case of old age and ds
canteens, medical aid, washing and bathing facilities, educational facilities etc. For the first time in India, this committee highlighted
of welfare measures for workers in improving their social and economic life.

SIS [dHMY & RIS DI b GRMF YD IT: AFDYG YR R GHISS DD, RIYBRATCH! 3R =7 GO 4¥ 1]
DT B (G20 T YA fhU T | URA ¥ Hedivl Ud 314 [q8ad! & di] g1 4 Ugd YiHd! $I 1 9gd HPug Al | iasd ol
¥ I, TR YIh-YhTs, Y& & I &I 3UTd 3¢ SREMEI Siigd &I (AT f[a=vdrg 47 | 39 &y J gdad gyl
o UiRrefdn e, 1850 1 W1 ST Yol § | fafie SATIRT SR gxas i=rd! o o7 TRId a1 1Y S &1 Yg/dl & 3539 °
AR el 11 T | S8 d1G, ST ST gidd gHeAr fUfm, 1853 U1 ST 353 ~®H1 SISy el & HRU B
TR 39> URGRT b1 &ffcgftd UeH SHA1 4T |

YA RG] AT, 1881 & IR B & 9l URATT YTDT &1 H1d &1 M3 T GUR &1 AT<Iel URY g3l | 3G S0 1
ol o forg -1 R | ST IR & axd o, T 1875 & BRI AR A W WISRT, 98 39 MUHgH & 9ikd [6u o g
BRG] | TUD HiHD! I [hd! i YR &1 Graf ured gt 2t | g8 fafis #rge! & suaf ot | greiifd 39 WRaR & SiiUd]
SUYH T & Arend Y SR & HUDRT b1 GIUET TG DI DI B SY | AT 1884 T §63 Bl WHR & gR1Y
R 1881 P DRAMT HAFTH DT THigT & 1org T8d D1 7T |

DHREMT (H=MeH) AT, 1891 39 TH SRAF! TR AN BT T 561 50 T 3G 3Med 4id HRRA Bl | 9gaR Harad (df
HBIE U4 SHaHis WIS & Ydt § UIaeT 3f1fe BT TR a1 141 | 91 418! & BRI & °el ol dH B 6 Hel iR o
& 1 7.00 99 Y GG 5.00 &l I @iy T BHIH HI UR A A1 71 | AIGSI3H Dl null B¢ & fa9MT 3fcRid Tigd 11.00 €
To L | IS YT & fofu e ud YR & ol @ WayH fhu g |

1914 H 7Y [d44S & [§54 & SR B3 1 [9HM TU | G5 & YHIBIA (1914 Y 1918) H SRAM] D1 AT 3R FGH B
# ffHafs g3 | gl P1HAI Ud HA% Y Holgd] BT WA 81 38 U | 1919 H SqRRAPIY 4H TG (ILO) BT RITTT G H ¢
an@a%éggﬁﬁmaﬁnaaqﬁﬂ%maﬁﬁqm (1920), STl &1 Bl Tgeh <1 47 TH GRIT ¢, B VAT 457 Hearoy
derdl g R & |

1944 T TR ST Tiftfa (91 9iAf) &1 Fgfad 91 Sem o1 fa=n 1 U Tgayul T 8 | 9ifd o 7eigdl, Td e,
Ud Yife! & GETId (R &1 il BT a1 (631 747 | 39 %H Hediv] & (a3 &1 &l 8 1631 94T S1aRT &1 gieT of
AT STARAT, gerur ud 9 @1 fRfd H 184, UIa-R, &, i eiia Sgrdl, 981 3R Ui @1 glawr, 2o gfdy
T UgcliaR 29 GiHfd 3 IR & Qe Ud 31 sitaq R &1 dgdl & G2l |




Who among the following was not the part of labour welfare reformers during the early period of industrial
development in India?

. Philanthopists

. Religious leaders
. Social Workers

. Factory Owners
1

2 2

(3) 3

4 4

FofaRad & SH-91 WRd ¥ SIS [GHRT & URMS BTd & GRIF 48 Bl GUR I HRT 7ol oT |
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Answer Question on the basis of following passage :

During the early period of industrial development, efforts towards workers' welfare were made largely by social workers, philanthro)
religious leaders, mostly on humanitarian grounds. Before the introduction of welfare and other legislation in India, the conditions ot
miserable. Exploitation of child labour, long hours of work, bad sanitation, absence of safety measures etc., were the regular features
life. The earliest legislative approach could be tracked back to the passing of the Apprentices Act of 1850. This act was enacted with
helping poor and orphaned children to learn various trades and crafts. The next act was the Fatal Accidents Act of 1853 which aimed
compensation to the families of workmen who lost their life as a result of "actionable wrong". Earlier attempts at legislation in this ¢
mainly aimed at regulation of employment.

The movement to improve the working conditions of Indian labour started with the passing of the first Indian Factories Act in 1881.
conditions in which labour worked in the textile mills in Bombay during those days, as testified by the factory commission of 1875 v
immediate cause for the passing of the Act. Adult labour, however, was not protected in any manner. It was found inadequate in mar
how, it recognized the right of the government to safeguard the interests of the workers by means of a suitable legislation. Therefore,
Commission was appointed by the Government of Bombay in 1884 to review the working of the Factories Act of 1881.

The Factories (Amendment) Act 1891 applied to all factories employing 50 persons or more. Provisions relating to better ventilation
for preventing overcrowding in factories were also made. The hours of work for children were reduced to six per day. Employment ¢
between 7.00 pm and 5.00 am was prohibited. Women were allowed to work for eleven hours in a day with one and a half hour rest.
provisions were also made for the health and safety of the Industrial workers.

The outbreak of First World War in 1914 led a number of new developments. During the war years (1914 to 1918) the number of fac
number of persons employed there increased. Wages did not keep pace with the rising prices and profits. The establishment of the In
Labour Organization (ILO) in 1919 was another important land mark in the history of Labour Welfare Movement in our Country. Th
AITUC (1920), the first central trade union organization in our country, also helped in furthering the cause of welfare movement.

Another milestone in the field of labour welfare was reached with the appointment of Labour Investigation Committee (Rege Comm
The committee was asked to investigate problems relating to wages and earnings, employment, housing and social conditions of wor
different areas in labour welfare such as housing policy, rest and recreation, occupational diseases, relief in the case of old age and ds
canteens, medical aid, washing and bathing facilities, educational facilities etc. For the first time in India, this committee highlighted
of welfare measures for workers in improving their social and economic life.

SN fAHTE & SRS HId $ SR SAUHIG: A YR R GRS SrRiddei, WIISRATEAT 3R 37 ga o 1
DT B (G20 T YA fhU T | URA ¥ Hedivl Ud 314 [q8ad! & di] g1 4 Ugd YiHd! $I 1 9gd HPug Al | iasd ol
¥ I, TR YIh-YhTs, Y& & I &I 3UTd 3¢ SREMEI Siigd &I (AT f[a=vdrg 47 | 39 &y J gdad gyl
o UiRrefdn e, 1850 1 W1 ST Yol § | fafie SATIRT SR gxas i=rd! o o7 TRId a1 1Y S &1 Yg/dl & 3539 °
AR el 11 T | S8 d1G, ST ST gidd gHeAr fUfm, 1853 U1 ST 353 ~®H1 SISy el & HRU B
TR 39> URGRT b1 &ffcgftd UeH SHA1 4T |

YA RG] AT, 1881 & IR B & 9l URATT YTDT &1 H1d &1 M3 T GUR &1 AT<Iel URY g3l | 3G S0 1
ol o forg -1 R | ST IR & axd o, T 1875 & BRI AR A W WISRT, 98 39 MUHgH & 9ikd [6u o g
BRG] | TUD HiHD! I [hd! i YR &1 Graf ured gt 2t | g8 fafis #rge! & suaf ot | greiifd 39 WRaR & SiiUd]
SUYH T & Arend Y SR & HUDRT b1 GIUET TG DI DI B SY | AT 1884 T §63 Bl WHR & gR1Y
R 1881 P DRAMT HAFTH DT THigT & 1org T8d D1 7T |

DHREMT (H=MeH) AT, 1891 39 TH SRAF! TR AN BT T 561 50 T 3G 3Med 4id HRRA Bl | 9gaR Harad (df
HBIE U4 SHaHis WIS & Ydt § UIaeT 3f1fe BT TR a1 141 | 91 418! & BRI & °el ol dH B 6 Hel iR o
& 1 7.00 99 Y GG 5.00 &l I @iy T BHIH HI UR A A1 71 | AIGSI3H Dl null B¢ & fa9MT 3fcRid Tigd 11.00 €
To L | IS YT & fofu e ud YR & ol @ WayH fhu g |

1914 H 7Y [d44S & [§54 & SR B3 1 [9HM TU | G5 & YHIBIA (1914 Y 1918) H SRAM] D1 AT 3R FGH B
# ffHafs g3 | gl P1HAI Ud HA% Y Holgd] BT WA 81 38 U | 1919 H SqRRAPIY 4H TG (ILO) BT RITTT G H ¢
an@a%éggﬁﬁmaﬁnaaqﬁﬂ%maﬁﬁqm (1920), STl &1 Bl Tgeh <1 47 TH GRIT ¢, B VAT 457 Hearoy
derdl g R & |

1944 T TR ST Tiftfa (91 9iAf) &1 Fgfad 91 Sem o1 fa=n 1 U Tgayul T 8 | 9ifd o 7eigdl, Td e,
Ud Yife! & GETId (R &1 il BT a1 (631 747 | 39 %H Hediv] & (a3 &1 &l 8 1631 94T S1aRT &1 gieT of
AT STARAT, gerur ud 9 @1 fRfd H 184, UIa-R, &, i eiia Sgrdl, 981 3R Ui @1 glawr, 2o gfdy
T UgcliaR 29 GiHfd 3 IR & Qe Ud 31 sitaq R &1 dgdl & G2l |

Which among the following is not a correct statement?

1. Wages did not keep pace with the rising prices and profits during the World War-I

2. The establishment of the International Labour Organization (ILO) took place in 1919

3. The Factories (Amendment) Act 1891 applied to all factories employing 100 persons or more.

4. The earliest legislative approach could be tracked back to the passing of the Apprentices Act of 1850



(1) 1
(2) 2
(3) 3
(4) 4

frofefad § S-Sy g 18 8 2

1. [0%g -1 b GRIFT B IR AHIRI gl & ST Hoigel H dleg Tol I TS |
2. 99 1919 H SARITTI 43 TS (3013.Ud. 311.) DI R B 7S |

3. HRAMI (I=MeH) SHTAFTH 1891 100 T AT (YD DI (AT B drel TH BRG] UR AR feban

T |
4. 1850 H UTRA WITAELAT SfUF-TH &) Had ydad! [d€ge® A S Gl ¢ |
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Read the passage carefully and answer Question

Indian organisations have traditionally not considered their human resource as a means of distinct competitive
advantage. Rather, people management has been a big challenge for the Indian business head. This situation is
undergoing a rapid change today:; because as Indian organisations are recognizing the need for professional
human resource management, simultaneously there is a growing demand for trained human resource
professionals. At most of the universities, business schools have begun to offer specialized, customized courses
to train the human resource professional. Increasingly, organisation are encouraging line managers to handle
human resource responsibilities. Ancient India was known for its occupation based hierarchy. The ancient Indian
text, the Arthashastra refers to the job description of a supervisor and performance linked pay for artisans. It was
only after the year 1850 that formal industrial organisations emerged in India. But, it was only after India became
an independent country in 1947 that significant improvement was witnessed in the personnel management policy
of business organisations. After independence, when a mixed economy was encouraged as the Indian growth
model, industrial organisations were broadly classified into public sector and private sector. Since the public
sector units were the recipients of large investments and became the biggest players, their approach towards
personnel management received a lot of attention. The goal of a socialistic society enshrined within the
constitution of India implied that the protection of human resource became a significant objective. Many
constitutional provisions were created in order to protect workers. Organisations had to appoint welfare officers
to take care of all personnel. The next phase of development saw the rise of the trade unions, and manager unions
in the Indian business organizations. This further boosted the growth of personnel offices in most of the
organizations.

T 7T 714/ DT YYD TG IR U=A & IR GIT |

YR I3[ 4 RGNS U Y A YUIeH Bl [aR1y gideasiare g o1 Hieqd gl 9Fl g | 34d: JFd
TS YR SIaUTd Y & oY U St Il S g9 § 1 34T ¢ R ol I 9ed el ¢ ; difes

HRA SIS ATGHIRS A 1T T Bl ARl bl A & e ¢, 3R WY g1 uiifard A
1 USR] B AN §¢ W61 § | DI fayfaenedl, sauR Syl = U=iaR A Jare & uiianr &
fe1e fa=siehd SIR TGS ATIR YIeashH| BT HRH [HA1 8 | TS A U1 b Slfid] & JHTeH b
feTQ shrdg Ydudhi I Uicifgd B Te § | Tl HIRd U 4t sl S1enid syadal & fog ufide o |
T HRTT 3, 3rRI=IRd # qdard & b [garor 3R RIcqd Rl & D F1sqre Jeifird def o1 day
Pred g | HRA H a9 1850 P €16 =R NN W61 BT Iad gl | uq, a¥ 1947 H HRA B
XA @ d1G AR 3] & DD Y DI il H HgayUl GUR ¢@- DI [Hdl | WaAdl & ale,

YR Ualg Aisd & & H [ srfouger &1 Uidiigd fdar 7, e sl &l s €9 9
Sl &7 SR ol &7 # aeiird a1 a1 | 39 d1G Jrdsi-d &7 H HRI a1 fbu 1 3R d gadr
P 8 P o T, PIHD et P Uict 3 =fBRI01 R iferep e oz man | yRidta dfdym o ufdeifd
FHISATE] FHIS o e - HIFd ATe & A& HedgUl 3o ST | BRI o W& & (oY 3fd
ifdeid / GAeTd YaeT ST T | GHI HIHGT Bl S@HI D (1T GTa-T DI Dol DRI g
BT U7 | 5P (BT & e TR0 H, HRAT SITIR W61 § HfHe Tl aUT e 9l &l 3¢ fedrs
& | 39 GF: SMUBTRI W1 | Diftich BRIl DI I H doil 313 |

Given below are two statements ;

Statement I : It was only after the year 1947 that formal industrial organizations emerged in India.

Statement II : Since the public sector units were recipient of limited investments it became centre of industrial
disputes.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II is true
2. Both Statement I and Statement I is false
3. Statement I is true but Statement II is false
4, Statement I is false but Statement II is true

1 1

(2) 2

3) 3

4) 4



EIE R I RIS
®YA1: HRA H IV 1947 & &€ ol SRS NI A3 BT 3a gl |

DY I : 99 J HaSiHd & o sprgdi 1 AifHd a1 g1, I i fadg &1 &g a4 747 |
JWRIGd DY D 3HdAlD . i [T ¢ fah el # Ggl IR &1 9g- DifvIg:

1. HUF IR I SH 9d &

2. FYA1 R 1 S 3T §

3. FUTI T §, Afp- HUT I T §
4. HYTI A g, AP FUA N T ©

1 1
(2) 2
3) 3
4) 4
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Read the passage carefully and answer Question

Indian organisations have traditionally not considered their human resource as a means of distinct competitive
advantage. Rather, people management has been a big challenge for the Indian business head. This situation is
undergoing a rapid change today; because as Indian organisations are recognizing the need for professional
human resource management, simultaneously there is a growing demand for trained human resource
professionals. At most of the universities, business schools have begun to offer specialized, customized courses
to train the human resource professional. Increasingly, organisation are encouraging line managers to handle
human resource responsibilities. Ancient India was known for its occupation based hierarchy. The ancient Indian
text, the Arthashastra refers to the job description of a supervisor and performance linked pay for artisans. It was
only after the year 1850 that formal industrial organisations emerged in India. But, it was only after India became
an independent country in 1947 that significant improvement was witnessed in the personnel management policy
of business organisations. After independence, when a mixed economy was encouraged as the Indian growth
model, industrial organisations were broadly classified into public sector and private sector. Since the public
sector units were the recipients of large investments and became the biggest players, their approach towards
personnel management received a lot of attention. The goal of a socialistic society enshrined within the
constitution of India implied that the protection of human resource became a significant objective. Many
constitutional provisions were created in order to protect workers. Organisations had to appoint welfare officers
to take care of all personnel. The next phase of development saw the rise of the trade unions, and manager unions
in the Indian business organizations. This further boosted the growth of personnel offices in most of the
organizations.

3T 7T 71%/73 D1 YYD UfGU IR YA & IR GIT |

HRAW GraHl F URuR® U 9 A garu i fafy ufdeasiere Yo &1 H1erd 981 JH18 | 3(d: Ji1d
T YR TG U & o U 92t T S g3 B 1 3471 I R ol O sea el ¢ ; difes
YR W34 AGHIdd G SHIeH Yae b Aagehdl I A9 ¢ 36 6. 3R I1Y g YIRIfEd A
T URIGR] DI AT 96 6! o | YD [aylaeerl, saTaR ST = URIaR HI-d |are1 & WiRIar &
fe1C faRiiehd SIR TGS ATIR UIEUhHI BT HRH (A1 g | TS A U1 b Sl & T b
[eT0 ShHd: YaeD] Dl UIAIGd B I3 o | UTH- HIRA 31U AN Sl SNeTRd caardl o [e1g UiRie o |
O R Uy, SRd H gddeis & B fqavr 3R RIeqdRI & 1 (15181 Yafad 9 $1 daH
AT 8 | HIRd H 9y 1850 & aTe SNU=TR SN Yia-! BT I §311 | T, ¥ 1947 H HRd Bl
TG & d18 AR HIEH] &b DIt Yo Pl Hifcd H AHgayu] YUR <@ Dl {7l | WAl & 9le,
URdTT Yqig Aisd & & § iy sricagwi &1 gieied fdar i, sieifiie 916+l &1 aaud 9 9
AT &7 AR ol &7 H aeiipd [6a1 741 | 39 §1G Frasi-ie &= H HRI <1 f6U 1T 3R 9 a9y
& g8 g 94 78, HifHd gde & ufd 396 =DHI01 R 21 aaq faar mn | YR dfau § ufowifad
FHISTATG ] GHTS o @8 - AT SEIE & A&V HE@UU] 3e-0 §-[-T | HIFRTRI o WREVT & (1Y 3
Tifdys / GauTe Urae S1Q 1Y | il HIHB] 1 SGHT b [T TS B Hedrur AR e
HAT YT | 3B GBI & 3T TRONH, YR IR TaA1 § i J9i auT yeed ol &7 3 fears
feam | 399 G: b= G-l | Diffies SRl Hi e H dofl o1 |




Which of the followings are mentioned in the ancient Indian text — Arthashastra?

A. Size of a standard agricultural field

B. Job description of a supervisor

C. Wages rates of seasonal workers

D. Performance linked pay for artisans

E. Rate of tax applicable on kings revenue.

Choose the correct answer from the options given below :

1. A and B Only
2. B and C Only
3. B and D Only
4.D and E Only

1) 1

2) 2

3) 3

(4) 4

YR U= 9 - srefemy | fFaferfad # O fogs Soord fadars 2

A. AMSD H¥ YA BT HHR

B. Tdefd &1 HRi fdavu

C. A SRIRT 1 fagrel/ #eigd &)
D. Ricts R &1 &1 e deferd aaq
E. ST & 19 G W R i a3

1. $9d A, 3R B
2. FIAB 3R C
3. HIAB3RD
4. HIADIRE

1 1
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Read the passage carefully and answer Question

Indian organisations have traditionally not considered their human resource as a means of distinct competitive
advantage. Rather, people management has been a big challenge for the Indian business head. This situation is
undergoing a rapid change today:; because as Indian organisations are recognizing the need for professional
human resource management, simultaneously there is a growing demand for trained human resource
professionals. At most of the universities, business schools have begun to offer specialized, customized courses
to train the human resource professional. Increasingly, organisation are encouraging line managers to handle
human resource responsibilities. Ancient India was known for its occupation based hierarchy. The ancient Indian
text, the Arthashastra refers to the job description of a supervisor and performance linked pay for artisans. It was
only after the year 1850 that formal industrial organisations emerged in India. But, it was only after India became
an independent country in 1947 that significant improvement was witnessed in the personnel management policy
of business organisations. After independence, when a mixed economy was encouraged as the Indian growth
model, industrial organisations were broadly classified into public sector and private sector. Since the public
sector units were the recipients of large investments and became the biggest players, their approach towards
personnel management received a lot of attention. The goal of a socialistic society enshrined within the
constitution of India implied that the protection of human resource became a significant objective. Many
constitutional provisions were created in order to protect workers. Organisations had to appoint welfare officers
to take care of all personnel. The next phase of development saw the rise of the trade unions, and manager unions
in the Indian business organizations. This further boosted the growth of personnel offices in most of the
organizations.

T 7T 714/ D1 YYD Tl IR U=A & IR GIIT |

YR 3! RGNS &Y Y A YHIeH Bl [aR1y gideasiare i o1 Hieqd gl 9Fl g | 34d: JFd
T YR I Y & oY U a2t IId S g9 © 1 34T ¢ R ol I 9ed el ¢ ; ddifds
R TS HIGHIRID HId HHIYT aie Bl ATd=Gehdl Dl I & 35 6. SR 1Y g UiAfEd Ard
TE URIGRT DI AT 96 g1 6 | DI fayfaeneai, R Sl A YRR ArFg G4l & UiRieor &
fe1e fa=siehd SIR TGS ATIR YIeashH| BT HRH [HA1 8 | TS A U1 b Slfid] & JHTeH b
[eTU hHe YaeDl DI YIIEd B T3 & | UTHi- HRA - AUT Sgdl SNeTRd cadrl o [e7g UiRie o |
YT HRA 3y, IR H dafed & BRI fqar07 2R RIeUDRI & H1i e Ydfed dod- o1 deH
AT ® | HIRd H 9y 1850 & dTe SNU=TR SN YS! BT I&U §311 | T, ¥ 1947 H HRA B
AT & §1G ATIR TIEH! & DIt Yo Bl At H Agay] GUR ¢@- DI 7l | WaAdl & 9le,

YR Yqig Aisd & & § iy srioaawi &1 wianied fdbar 1, eifiie G841 &1 aaas 9 9
TSl & MR ol &7 # aiflerd a1 7T | 3HE 16 grasli-id &3 H HRY Fd 6T 1Y 3R d gaqr
b I3 b5 &7, BIfHE FdeT b Uid I7b =PHI0 IR 3iferep 7 foar mar | HRg wiger # ufawifud
FHISATE] FHIS o e - HI-d ATe & A& HgdgUl 3o ST | BRTRI o W& & (e 3fid
Hifderd / GAUTHS UIGeT -1 7T | G+l HIfHDT BT SEHTA B [T T3 I Hednur SMiTHRY g
BT UT | P (BT B 3T TR0 H, HRAT SITIR W61 | HiHe Tl aUT Yo "l &1 3¢ fedrs
fean | 39H G SHfUBTRI G161 H Diftids drafadl o1 e H doil 7S |

Which one of the following factors is responsible for the increased number of personnel office in many
organizations in India?

1. The rise of Unions
2. Workers friendly policies
3. Industrial revolution
4. British influence on Indian Unions
1) 1
) 2
(3) 3
4) 4

YRA & D W61 H BIfHS ST DI dedl e & fae Fufalad 3 991 oR® Iwerfi g 2

1. 991 B 3ag

2. BITR fgddRl Hifaai

3. 3fenfie wifd

4. R 991 IR fgfew o1 yyE

1) 1
2) 2



3) 3
(4) 4
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Read the passage carefully and answer Question

Indian organisations have traditionally not considered their human resource as a means of distinct competitive
advantage. Rather, people management has been a big challenge for the Indian business head. This situation is
undergoing a rapid change today; because as Indian organisations are recognizing the need for professional
human resource management, simultaneously there is a growing demand for trained human resource
professionals. At most of the universities, business schools have begun to offer specialized. customized courses
to train the human resource professional. Increasingly, organisation are encouraging line managers to handle
human resource responsibilities. Ancient India was known for its occupation based hierarchy. The ancient Indian
text, the Arthashastra refers to the job description of a supervisor and performance linked pay for artisans. It was
only after the year 1850 that formal industrial organisations emerged in India. But, it was only after India became
an independent country in 1947 that significant improvement was witnessed in the personnel management policy
of business organisations. After independence, when a mixed economy was encouraged as the Indian growth
model, industrial organisations were broadly classified into public sector and private sector. Since the public
sector units were the recipients of large investments and became the biggest players, their approach towards
personnel management received a lot of attention. The goal of a socialistic society enshrined within the
constitution of India implied that the protection of human resource became a significant objective. Many
constitutional provisions were created in order to protect workers. Organisations had to appoint welfare officers
to take care of all personnel. The next phase of development saw the rise of the trade unions, and manager unions
in the Indian business organizations. This further boosted the growth of personnel offices in most of the
organizations.

3T 7T 71%/73 D1 YYD UfGU IR YA & IR GIT |

HRAW GraHl F URuR® U 9 A garu i fafy ufdeasiere Yo &1 H1erd 981 JH18 | 3(d: Ji1d
T YR TG U & o U 92t T S g3 B 1 3471 I R ol O sea el ¢ ; difes
YR W34 AGHIdd G SHIeH Yae b Aagehdl I A9 ¢ 36 6. 3R I1Y g YIRIfEd A
T URIGR] DI AT 96 6! o | YD [aylaeerl, saTaR ST = URIaR HI-d |are1 & WiRIar &
fe1C faRiiehd SIR TGS ATIR UIEUhHI BT HRH (A1 g | TS A U1 b Sl & T b
[eT0 ShHd: YaeD] Dl UIAIGd B I3 o | UTH- HIRA 31U AN Sl SNeTRd caardl o [e1g UiRie o |
T HRA 3y, IRd H widafed & HRi fdar07 3R RIeUDRI & 1 e Ydferd do- o1 deH
AT 8 | HIRd H 9y 1850 & aTe SNU=TR SN Yia-! BT I §311 | T, ¥ 1947 H HRd Bl
TG & d18 AR HIEH] &b DIt Yo Pl Hifcd H AHgayu] YUR <@ Dl {7l | WAl & 9le,
URdTT Yqig Aisd & & § iy sricagwi &1 gieied fdar i, sieifiie 916+l &1 aaud 9 9
AT &7 AR ol &7 H aeiipd [6a1 741 | 39 §1G Frasi-ie &= H HRI <1 f6U 1T 3R 9 a9y
& g8 g 94 78, HifHd gde & ufd 396 =DHI01 R 21 aaq faar mn | YR dfau § ufowifad
FHISTATG ] GHTS o @8 - AT SEIE & A&V HE@UU] 3e-0 §-[-T | HIFRTRI o WREVT & (1Y 3
Tifdys / GauTe Urae S1Q 1Y | il HIHB] 1 SGHT b [T TS B Hedrur AR e
HAT YT | 3B GBI & 3T TRONH, YR IR TaA1 § i J9i auT yeed ol &7 3 fears
feam | 399 G: b= G-l | Diffies SRl Hi e H dofl o1 |

After which of the following event, the country has seen significant improvement in the personnel management
policy of business organizations?

. Independence

. Simon Commission

. Labore meet of Indian National Congress
. Division of Bengal

1) 1

(2) 2

3) 3

(4) 4

S U I T



5 [Raa © fp 9 g1 & q1e ¢ | SATUR W81 &1 $IiHe Jeed ifd § Agayul uR fears fan 2

1. WA v

2. GI3H- HHIRH

3. YR AP BIUY BT dIgR T
4. ST B fAHTSH

1) 1
(2) 2
(3) 3
(4) 4
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Read the passage carefully and answer Question

Indian organisations have traditionally not considered their human resource as a means of distinct competitive
advantage. Rather, people management has been a big challenge for the Indian business head. This situation is
undergoing a rapid change today; because as Indian organisations are recognizing the need for professional
human resource management, simultaneously there is a growing demand for trained human resource
professionals. At most of the universities, business schools have begun to offer specialized, customized courses
to train the human resource professional. Increasingly, organisation are encouraging line managers to handle
human resource responsibilities. Ancient India was known for its occupation based hierarchy. The ancient Indian
text, the Arthashastra refers to the job description of a supervisor and performance linked pay for artisans. It was
only after the year 1850 that formal industrial organisations emerged in India. But, it was only after India became
an independent country in 1947 that significant improvement was witnessed in the personnel management policy
of business organisations. After independence, when a mixed economy was encouraged as the Indian growth
model, industrial organisations were broadly classified into public sector and private sector. Since the public
sector units were the recipients of large investments and became the biggest players, their approach towards
personnel management received a lot of attention. The goal of a socialistic society enshrined within the
constitution of India implied that the protection of human resource became a significant objective. Many
constitutional provisions were created in order to protect workers. Organisations had to appoint welfare officers
to take care of all personnel. The next phase of development saw the rise of the trade unions, and manager unions
in the Indian business organizations. This further boosted the growth of personnel offices in most of the
organizations.

[&T T T1e/i=1 BT ALY UleT SR U=A o IR Gl |

HRAT G761 7 URURS® &0 F HId F81e 1 fafRiy ufieauiares ey o1 AregH TgT 715 | 30c: A
T YR ST U & [0 U a1 ATl &1 g 8 1 3111 g Rufdl ool ¥ 9ed €l ¢ ; i
HRAIY A AR HId HHIHT et/ b1 ATdGehdl Dl A < o 6. AR 1Y g1 YIRAfed A
HGTeH URIGR] DI AR g 51 & | AU fayfaeneal, saaR Sw1=i = URIaR J1-d Ga1eH! & HiRiemr &
feTC faRsihd SIR ST ATTIR UIEasHH| BT HRH [HA1 S | TS A G D @] & THTe &
[eTU hHe< YaeDl DI YIIEd B Ig ¢ | U HRA 30 A0l Sgdl eTRd ayrd| o ferg Uikie o |
YT HRAT Uy, SI=IRd H Widafd & BRI [qaR0T SR RIeqd Rl & S1d e Yaied da- ol deH
AT g | HRA H 9y 1850 F €18 NU=TRS NI TS BT I3 gl | g, a9 1947 H HRA Bl
¥GAAAT & §IC AR TSI b DliHds YatH i Al H Agayul GeR - bl [FaT | ¥ddl & qle,

YR Yals Alsd & &Y H M9 eriogwur &1 Uidiiied fdar 11, ieiiie e+l &l AN €9 4
Hrasen & SR ol & H afferd fbar man | 34 €16 grdsii-e &3 H YRl (a2 fhu e ¢k 3 oqar
b T3 b5 &7, BIfHS Fde b Ui I7b VB0 IR 3iferep 1 for mar | HRg wiger J ufawifud
FHISTATE] GHIS & el = A4 YA1eH o A& Hgeayul 360 §-11 | BRI o U & AT 3
Hifderd / AT AIGeT I T | FHI HIHD] DI SEHTA D [e1T A3 DI Hednn HTHRT Fgad
BT UT | 3P GBI & 3T =R0 H, HRAT SUTIR G131 | i I91 quT vees 94l &1 3 fars
e | 3H Y SHTHTRI W31 H DIt drafadl @l gl H doil T3 |




Which one of the following is not a correct statement?

. Many constitutional provisions were created in order to protect workers.

. Industrial organizations were broadly classified into British industries and Indian industries.
. Indian organizations have traditionally not considered their human resources

. People management has been a big challenge for the Indian business head

L S R

=

1 1
(2) 2
3) 3
(4) 4

fgfafed d e Hya sl Aol § 2

1. DTHIRT TR&0T & AT 2 Hifafered Wray™ SHe T |

2. SN TSI Dl oD = I fafe = JevT SR YR Ieliv & =4 H avfiepd fbar i |
3. YR TSI YRR 0 F 20 A G R [d9R 781 fhar g |

4. YRAR IR YHE! & YR HI1d Yo gl gHldi 36l |

1) 1
(2) 2
3) 3
(4) 4
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